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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com. (CA) DEGREE 
EXAMINATION, MAY 2024. 

First Semester 

PRINCIPLES OF MANAGEMENT 

 (CBCS 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define the term management. 

 ÷©»õsø© GÝ® £uzøu Áøμ¯ÖUP. 

2. What do you mean by Planning? 

 vmhªkuÀ £ØÔ }Ãº AÔÁx GßÚ? 

3. Give the meaning of Staffing. 

 £o¯©ºzxu¼ß ö£õ¸Ò u¸P. 

4. What do you mean by directing? 

 C¯USÂzuÀ £ØÔ }Ãº AÔÁx GßÚ? 

5. What is Organisational Behaviour? 

 {ÖÁÚ |hzøu GßÓõÀ GßÚ? 

6. Define the term Personality. 

 BÐø© vÓß GÝ® £uzøu Áøμ¯ÖUP. 
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7. What do you mean by learning? 

 PØÓÀ £ØÔ }Ãº AÔÁx GßÚ? 

8. Define the term Group. 

 SÊ GÝ® £uzøu Áøμ¯ÖUP. 

9. What do you mean by negotiation? 

 TiU P»¢x ÷£_uÀ £ØÔ }Ãº AÔÁx GßÚ? 

10. What is Organizational Conflict? 

 {ÖÁÚ ÷©õuÀ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) What are the importance of Management? 

 ÷©»õsø©°ß •UQ¯zxÁzøu ÂÍUSP.  

Or 

 (b) Briefly explain the various types of managerial 
decisions. 

 ÷©»õsø© •iöÁkzu¼ß £À÷ÁÖ ÁøPPøÍ 

_¸UP©õP ÂÍUSP. 

12. (a) What are the advantages of functional organisation? 

 ö\¯À£õmk Aø©¨¤ß |ßø©PÒ ¯õøÁ?  

Or 

 (b) State the functions of a leader. 

 J¸ uø»ø© HØ£Á›ß £oPøÍ TÖP.  
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13. (a) Bring out the importance of organizational 
behavior. 

 {ÖÁÚ |hzøu°ß •UQ¯zxÁzøu u¸P. 

Or 

 (b) How personality influences organizational 
behavior? Explain. 

 {ÖÁÚ |hzøuø¯ BÐø©zvÓß GÆÁõÖ 

yskQÓx? ÂÍUSP.  

14. (a) State the various determinants of learning. 

 PØÓø» wº©õÛUPU Ti¯øÁPøÍ SÔ¨¤kP.  

Or 

 (b) Explain the different types of groups. 

 J¸ SÊÂß öÁÆ÷ÁÖ ÁøPPøÍ ÂÍUSP.  

15. (a) Describe the features of organizational culture. 

 {ÖÁÚ P»õa\õμzvß A®\[PøÍ ÂÁ›UP.  

Or 

 (b) Bring out the seven steps of intact team building. 

 SÊ Pmhø©¨¤ß HÊ £iPøÍ u¸P.  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the various stages in the history of management 
thought. 

 ÷©»õsø©a ]¢uøÚ Áμ»õØÔß £À÷ÁÖ £i{ø»PøÍ 

ÂÍUSP. 
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17. Explain the basic requirements of an effective control 
system. 

 J¸ £¯ÝÒÍ Pmk¨£õmk •øÓø©°ß Ai¨£øhz 

÷uøÁPøÍ ÂÍUSP. 

18. Identify the role and limitations of organizational 
behavior. 

 {ÖÁÚ |hzøu°ß £[S ©ØÖ® SøÓ£õkPøÍ 

Aøh¯õÍ® PõsP. 

19. Discuss the different theories of Motivation. 

 FUSÂzu¼ß öÁÆ÷ÁÖ ÷Põm£õkPøÍ ÂÁõvUP. 

20. Discuss the various factors affecting organizational 
change. 

 {ÖÁÚ ©õØÓzøu £õvUS® £À÷ÁÖ PõμoPøÍ 

ÂÁõvUP. 

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com. (CA) DEGREE 
EXAMINATION, MAY 2024 

First Semester 

BUSINESS COMMUNICATION 

 (CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define Communication. 
 uPÁÀöuõhºø£ Áøμ¯ÖUP. 

2. What is listening skills? 
 ÷PmS® vÓß GßÓõÀ GßÚ? 

3. What is meant by internal communication? 
 EÒ uPÁÀöuõhº¦ Gß£uß ö£õ¸Ò ¯õx? 

4. What do you mean by communication network? 
 uPÁÀöuõhº¦ Áø»¨¤ßÚÀ £ØÔ }Âº AÔÁx GßÚ? 

5. What is memo? 
 SÔ¨£õøn GßÓõÀ GßÚ? 

6. What do you understand by report writing? 
 AÔUøP GÊxuÀ £ØÔ }Âº AÔÁx GßÚ? 

7. Write the meaning of Etiquette. 
 B\õμ® Gß£uß ö£õ¸øÍ GÊxP. 
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8. What is meant by open meeting? 

 vÓ¢u Tmh® £ØÔ AÔÁx GßÚ? 

9. What is meant by employment communication? 

 ÷Áø»Áõ´¨¦ uPÁÀöuõhº¦ Gß£uß ö£õ¸Ò ¯õx? 

10. Write a short note on Job interview. 

 ÷Áø» ÷|ºPõnÀ £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choose either (a) or (b). 

11. (a) Explain the process of communication. 

  uPÁÀöuõhº¤ß £i•øÓø¯ ÂÍUSP. 

Or 

 (b)  What are the importance of verbal communication? 

  Áõ´ö©õÈ uPÁÀöuõhº¤ß •UQ¯zxÁ[PÒ 
¯õøÁ? 

12. (a) State the channels of internal communication. 

  EÒ uPÁÀöuõhº¤ß ÁÇ[PÀPøÍU SÔ¨¤hÄ®. 

Or 

 (b) What are the types of communication network? 

  uPÁÀöuõhº¦ Áø»¨¤ßÚÀPÎß ÁøPPÒ ¯õøÁ? 

13. (a) What are the importance of Business letters? 

  ÁoP Piuzvß •UQ¯zxÁ[PÒ ¯õøÁ? 

Or 

 (b) State the guidelines for writing a circular. 

  J¸ _ØÓÔUøP GÊxÁuØPõÚ ÁÈPõmkuÀPøÍU 
SÔ¨¤hÄ®. 
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14. (a) Explain the steps in making a presentation. 

  J¸ ÂÍUPUPõm]ø¯ E¸ÁõUSÁuØPõÚ £iPøÍ 
ÂÍUSP. 

Or 

 (b) Write a short note on Time management. 

  ÷|μ ÷©»õsø© £ØÔ ]Ö SÔ¨¦ ÁøμP. 

15. (a) What are the types of resume? 

  uØSÔ¨¤ß ÁøPPÒ ¯õøÁ? 

Or 

 (b) Explain the characteristics of Job interview. 

  ÷Áø» ÷|ºPõn¼ß ]Ó¨¤¯À¦PøÍ ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. State the measures to overcome the bathers of 
communication. 

 uPÁÀöuõhº¦UPõÚ uøhPøÍ \› ö\´ÁuØPõÚ 
|hÁiUøPPøÍ SÔ¨¤kP. 

17. Explain the formal and informal communication network. 

 •øÓ¯õÚ ©ØÖ® •øÓ\õμõ uPÁÀöuõhº¦ 
Áø»¯ø©¨ø£ ÂÍUSP. 

18. What are the features of writing a good report? 

 J¸ |À» AÔUøPø GÊxÁuß A®\[PÒ ¯õøÁ? 

19. Explain the different types of business meetings. 

 £À÷ÁÖ ÁøP¯õÚ ÁoP Tmh[PøÍ ÂÍUSP. 

20. Explain the importance and factors involving Job 
interview. 

 ÷Áø» ÷|ºPõnÀ \®£¢u¨£mh •UQ¯zxÁzøu²®, 
PõμoPøÍ²® ÂÍUSP. 

–––––––––––––– 
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DISTANCE EDUCATION 

B.Com. DEGREE EXAMINATION, MAY 2024 

First Semester 

BUSINESS ENVIRONMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 
Answer ALL questions. 

1. What is meant by socio cultural environment? 
 \‰P P»õa\õμ `ÇÀ £ØÔ AÔÁx GßÚ 

2. What do you understand by economic policies? 
 ö£õ¸ÍuõμU öPõÒøPPÒ ‰»® }Ãº GßÚ ¦›¢x 

öPõÒQÕºPÒ? 

3. What do you mean by socialistic economic system? 
 \‰P ö£õ¸Íõuõμ Aø©¨¦ }Ãº AÔÁx GßÚ? 

4. Infer the term mixed economic system. 
 P»¨¦ ö£õ¸Íõuõμ Aø©¨¦ GßÓ ö\õÀø» AÝ©õÛUP. 

5. Why industrial policy is needed? 
 öuõÈÀ öPõÒøP Hß ÷uøÁ¨£kQÓx? 

6. What is the relationship of government with the 
business? 

 ÁoPzxhß Aμ\õ[Pzvß öuõhº¦ GßÚ? 

7. State any two objectives of disinvestment. 
 •u½møh Â»USÁuß ÷|õUP[PÎÀ H÷uÝ® CμsiøÚ 

TÖP. 
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8. What are the needs for social responsibility of business? 

 ÁoPzvß \‰P¨ ö£õÖ¨¦UPõÚ ÷uøÁPÒ ¯õøÁ? 

9. Give the meaning of joint sectors enterprises. 

 Tmkz xøÓ {ÖÁÚzvß ö£õ¸øÍz u¸P. 

10. How do cooperative societies contribute to the Indian 
economy? 

 C¢v¯¨ ö£õ¸ÍõuõμzvØS TmkÓÄ \[P[PÒ GÆÁõÖ 
£[PÎUQßÓÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) List out the importance of the business 
environment. 

  ÁoPa `Ç¼ß •UQ¯zuÁzøu £mi¯¼kP. 

Or 

 (b)  Indicate the impact of Indian culture on business. 

  ÁoPzvÀ C¢v¯ P»õa\õμzvß uõUPzøu 
SÔ¨¤kP. 

12. (a) Assess the important role of Foreign direct 
investment. 

  A¢{¯ ÷|μi •u½miß •UQ¯ £[øP ©v¨¤kP. 

Or 

 (b) Illustrate the components of the financial system of 
India. 

  C¢v¯õÂ¾ÒÍ {v Aø©¨¤ß TÖPøÍ ÂÍUSP. 
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13. (a) Narrate the objectives of the new economic policy. 
  ¦v¯ ö£õ¸ÍõuõμU öPõÒøP°ß ÷|õUP[PøÍ 

GkzxøμUP. 

Or 

 (b) What are the disadvantages of privatisation? 
  uÛ¯õº©¯©õUP¼ß wø©PÒ ¯õøÁ? 

14. (a) Explain the future trends in globalisation. 
  E»P©¯©õUP¼ß GvºPõ» ÷£õUSPøÍ ÂÍUSP. 

Or 

 (b) Outline the objectives and functions of WTO. 

  WTO&Âß ÷|õUP[PÒ ©ØÖ® £oPøÍ ÷PõimkU 
PõmkP. 

15. (a) Distinguish the public sector from the private 
sectors. 

  uÛ¯õº xøÓ°¼¸¢x ö£õxz xøÓø¯ 
÷ÁÖ£kzxP. 

Or 

 (b) Describe the features of mixed economic system in 
India. 

  C¢v¯õÂ¾ÒÍ P»¨¦ ö£õ¸Íõuõμ Aø©¨¤ß 
A®\[PøÍ ÂÁ›UP. 

SECTION C — (3 × 10 = 30 marks) 
Answer any THREE questions. 

16. Discuss the factors influencing the economic environment 
of business. 

 ÁoPzvß ö£õ¸Íõuõμa `Çø» yshUTi¯ 
PõμoPøÍ¨ £ØÔ ÂÁõvUP. 

17. Critically evaluate the effects of political environment on 
a business firm. 

 J¸ ÁoP {ÖÁÚzvß «uõÚ Aμ]¯À `Ç¼ß 
ÂøÍÄPøÍ Â©º\Ú Ÿv¯õP ©v¨¥k ö\´P. 



D–4228
  4

18. Elaborate on the positive and negative impact of 
industrial policy of India. 

 C¢v¯õÂ¾ÒÍ öuõÈÀ öPõÒøP°ß ÷|º©øÓ ©ØÖ® 
Gvº©øÓ uõUPzøu Â›ÁõPU TÖP. 

19. Examine the social responsibility of a firm towards 
groups of the society. 

 \•uõ¯zvß SÊUPÐUS J¸ {ÖÁÚzvß \‰P¨ 
ö£õÖ¨ø£ Bμõ´P. 

20. Describe the role of public sectors in Indian economic 
development. 

 C¢v¯¨ ö£õ¸Íõuõμ ÁÍºa]°À ö£õxz xøÓPÎß 
£[øP ÂÁ›UP. 

–––––––––––––– 
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DISTANCE EDUCATION 

Common for B.Com./B.Com. (CA) DEGREE EXAMINATION, 
MAY 2024. 

First Semester 

FINANCIAL ACCOUNTING 

 (CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define Accounting. 

 PnUQ¯ø» Áøμ¯ÖUP. 

2. What do you mean by double entry system? 

 Cμmøh £vÄ •øÓ £ØÔ }Ãº AÔÁx GßÚ? 

3. State the methods of preparing trial balance. 

 C¸¨£õ´øÁ u¯õ›US® •øÓPøÍU SÔ¨¤hÄ®. 

4. What is meant by error? 

 ¤øÇ £ØÔ AÔÁx GßÚ? 

5. Who are all the parties involved in bills of exchange? 

 ©õØÖa^miÀ Dk£mkÒÍ AøÚzx uμ¨¤ÚºPÒ ¯õÁº? 

6. Why Bank Reconciliation Statement is prepared? 

 Á[Q \›Pmk® £mi¯À Hß u¯õ›UP¨£kQÓx? 
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7. State two importance of Depreciation. 

 ÷u´©õÚzvß Cμsk •UQ¯zxÁzøuU TÓÄ®. 

8. What is fixed capital? 

 {ø» •uÀ GßÓõÀ GßÚ? 

9. Define "Company". 

 "{Ö©®" Áøμ¯ÖUP. 

10. What is meant by Shares? 

 £[SPÒ £ØÔ AÔÁx GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Journalise the following transactions : 

  (i) Purchased goods for cash Rs. 12,000 

  (ii) Purchased stationery for cash Rs. 600 

  (iii) Furniture purchased for Rs. 35,000 

  (iv) Cash sales Rs.8,500 

  (v) Interest paid for Rs. 700 

  ¤ßÁ¸® |hÁiUøPPøÍ SÔ¨÷£miÀ £vÄ 
ö\´¯Ä®. 

  (i) öμõUP©õP ö£õ¸mPøÍ öPõÒ•uÀ ö\´ux  
¹. 12,000 

  (ii) GÊxö£õ¸Ò Áõ[Q¯x ¹. 600 

  (iii) AøÓP»ß Áõ[Q¯x ¹. 35,000 

  (iv) öμõUP ÂØ£øÚ ¹. 8,500 

  (v) Ámi ö\¾zv¯x ¹. 700 
Or 

 (b) State the objectives of accounting. 

  PnUQ¯¼ß ÷|õUP[PøÍU SÔ¨¤hÄ®. 
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12. (a) From the following information, prepare trading 
account. 

  (i) Opening stock Rs. 30,000 

  (ii) Purchases Rs. 60,000 

  (iii) Return outward Rs. 750 

  (iv) Sales Rs. 1,77,000 

  (v) Return inward Rs. 1,000 

  (vi) Closing stock Rs. 35,000 

  ¤ßÁ¸® uPÁ¼¼¸¢x, Â¯õ£õμ PnUøPz 
u¯õ›UPÄ®. 

  (i) öuõhUP \μUQ¸¨¦ ¹. 30,000 

  (ii) öPõÒ•uÀ ¹. 60,000 

  (iii) öÁÎ v¸¨£® ¹. 750 

  (iv) ÂØ£øÚ ¹. 1,77,000 

  (v) EÒ v¸¨£® ¹. 1,000 

  (vi) CÖv \μUQ¸¨¦ ¹. 35,000 

Or 

 (b) State the aim of preparing final accounts. 

  CÖv PnUSPøÍz u¯õ›¨£uß ÷|õUP[PøÍ 
SÔ¨¤hÄ®. 

13. (a) (i) Bank balance as per cash book Rs.200 

  (ii) Cheque deposited but not collected Rs. 1,500 

  (iii) Cheque issued but not presented for payment 
Rs.2,500 

  (iv) Bank charges debited in the pass book Rs.200 

  (v) Interest entered in the pass book Rs. 100 

   Prepare Bank Reconciliation Statement. 
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  (i) öμõUP Hmiß £i Á[Q C¸¨¦ ¹. 200 

  (ii) Põ÷\õø» Á[Q°À ö\¾zv²® 
Á`¼UP¨£hõuøÁ ¹. 1,500 

  (iii) ÁÇ[P¨£mh Põ÷\õø» Á[Q°À 
\©º¤UP¨£hõuøÁ ¹. 2,500 

  (iv) ö\À÷»miÀ £ØÖ øÁUP¨£mkÒÍ Á[QU 
Pmhn® ¹. 200 

  (v) ö\À÷»miÀ £v¯¨£mkÒÍ Ámi ¹. 100 

   Á[Q \›Pmk® £mi¯ø» u¯õº ö\´P. 
Or 

 (b) List out the characteristics of Bill of Exchange. 

  ©õØÖa^miß £s¦PøÍ £mi¯¼kP. 

14. (a) On 01.01.2021, A,B,C entered into partnership 
contributing Rs. 2,50,000, Rs. 1,30,000 and  
Rs. 1,20,000 respectively and sharing profit in the 
ratio of 5:3:2. B and C are entitled to a salary of  
Rs. 16,000 and Rs 14,000 respectively per year. 
Interest on capital is to be allowed at 5% p.a. 
Interest on drawings is to be charged at 5% During 
the year A withdrew Rs.40,000, B Rs.25,000 and  
C Rs. 15,000. Profit in 2021 before the above 
mentioned adjustment was Rs.71,400. Prepare 
profit and loss appropriation account.  

  0.1.01.2021 AßÖ, A, B, C •øÓ÷¯ ¹. 2,50,000,  
¹. 1,30,000 ©ØÖ® ¹. 1,20,000 £[PÎ¨ø£ AÎzx, 
5:3:2 GßÓ ÂQuzvÀ »õ£zøu¨ £Qº¢xöPõsk 
Tmhõsø©USÒ ~øÇ¢uÚº. B ©ØÖ® C BskUS 
•øÓ÷¯ ¹. 16,000 ©ØÖ® ¹. 14,000 \®£Í® ö£Ó 
E›ø© Esk. •uÀ «uõÚ Ámi BskUS 5% 
AÝ©vUP¨£h ÷Ásk®. Gk¨¦ «uõÚ Ámi 5% 
AÝ©vUP¨£k®. AÆÁõsiÀ A ¹. 40,000.  
¹. 25,000 ©ØÖ® C ¹. 15,000 v¸®£ GkzxU 
öPõshÚº. ÷©÷» SÔ¨¤h¨£mh \›UPmku¾US 
•ß 2021CÀ »õ£® ¹. 71,400 C»õ£ ©ØÖ® |mh 
£QºÄ PnUøP u¯õº ö\´¯Ä®. 

Or 
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 (b) What are the steps to be taken for admission of a 
partner? 

  J¸ TmhõÎø¯ ÷\º¨£uØS ÷©ØöPõÒÍ ÷Ási¯ 
£i{ø»PÒ ¯õøÁ? 

15. (a) Anbu ltd., issued 4,000, 6% redeemable preference 
shares of Rs. 100 each fully paid when the shares 
become due for redemption, the company decided as 
follows : 

  (i) to issue 5,000, 10% Debentures of Rs. 100 
each.   

  (ii) to issue 40,000 equity shares of Rs. 10 each @ 
a premium of Rs. 2 per share 

  (iii) to redeem preference shares @ 5% premium 

  (iv) to sell the investment at book value for  
Rs. 50,000. 

    Give journal entries. 

  Aß¦ ¼ªöhm 4,000, 6% «möhkUPUTi¯ 
•ßÝ›ø©¨ £[SPÒ. 

  JÆöÁõßÖ® ¹. 100 Ãu® •Êø©¯õP 
ö\¾zu¨£mh £[SPøÍ öÁÎ°mhx. £[SPÒ 
«m¤ØS {Ö©® ¤ßÁ¸©õÖ •iÄ ö\´ux. 

  (i) 5,000, 10% Phß £zvμ[PøÍ ¹. 100 Ãu® 
öÁÎ°h ÷Ásk®. 

  (ii) 40,000 \© £[SPøÍ ¹. 10 Ãu® J¸ £[QØS 
¹. 2 •øÚ©zvÀ JÆöÁõßÖ® öÁÎ°h 
÷Ásk®. 

  (iii) •ßÝ›ø©¨ £[SPøÍ 5% •øÚ©zvÀ 
«möhkUP ÷Ásk® 

  (iv) •u½kPøÍ ¦zuP ©v¨¤À ¹. 50,000US ÂØP 
÷Ásk®. 

   SÔ¨÷£k £vÄPøÍ u¸P. 

   
Or 
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 (b) Explain the following : 

  (i) Forfeiture of Shares  

  (ii) Reissue of shares 

  ¤ßÁ¸£ÁÚÁØøÓ ÂÍUSP : 

  (i) £[SPøÍ £Ô•uÀ ö\´uÀ 

  (ii) £[SPøÍ ©ÖöÁÎ±k ö\´uÀ 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the concept of accounting. 

 PnUQ¯¼ß P¸zxUPøÍ ÂÍUSP. 

17. From the following particulars, Prepare Trading, Profit 
and Loss account and Balance Sheet as on 31.12.2013 

Particulars Debit Credit 

 Rs. Rs. 

Capital  40,000

Sales  25,000

Purchase 15,000 

Salaries 2,000 

Rent 1,500 

Insurance 300 

Drawings 5,000 

Machinery 28,000 

Cash at bank 4,500 

Cash in hand 2,000 

Stock on 1.1.2013 5,200 

Debtors 2,500 

Creditors  1,000

 66,000 66,000
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 Adjustments : 

 (a) Stock on 31.12.2013 Rs. 4,900 

 (b) Salaries unpaid Rs. 300 

 (c) Rent paid in advance Rs.200 

 (d) Insurance prepaid Rs.90. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 31.12.2013 AßøÓ¯ 
Â¯õ£õμ, C»õ£ ©ØÖ® |mh PnUS ©ØÖ® C¸¨¦{ø» 
SÔ¨ø£ u¯õº ö\´¯Ä®. 

Â£μ[PÒ £ØÖ ÁμÄ 

 ¹. ¹. 

•uÀ  40,000

ÂØ£øÚ  25,000

öPõÒ•uÀ 15,000

\®£Í® 2,000

ÁõhøP 1,500

Põ¨¥k 300

Gk¨¦ 5,000

C¯¢vμ[PÒ 28,000

Á[Q°À £n® 4,500

øP°À £n® 2,000

01.01.2013 AßÖ \μUQ¸¨¦ 5,200

PhÚõÎPÒ 2,500

PhÜ¢÷uõº  1,000

 66,000 66,000

 \›UPmkuÀPÒ : 

 (A) 31.12.2013 AßÖ \μUQ¸¨¦ ¹. 4,900 

 (B) öPõk£h÷Ási¯ \®£Í® ¹. 300 

 (C) •ßTmi ö\¾zv¯ ÁõhøP ¹. 200 

 (D) •ßTmi ö\¾zv¯ Põ¨¥k ¹. 90 
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18. On 01.01.2020, Balan drew a bill of exchange for  
Rs. 1,200 payable after 3 months. Krishna accepted it and 
sent it to Balan who discounted the same with the bank 
at 5% pa. In the due date the bill is dishonoured. Give 
journal entries in the books of Balan and Krishna. 

 0.1.01.2020 AßÖ, £õ»ß ‰ßÖ ©õu[PÐUS¨ ¤ÓS 
ö\¾zu ÷Ási¯ ¹. 1,200UPõÚ ©õØÖa^møh GÊvÚõº. 
Q¸ènõ Aøu HØÖ £õ»ÝUS AÝ¨¤Úõº, Aøu 
Á[Q°À BskUS 5% uÒÐ£i ö\´uõº. E›¯ ÷uv°À 
©õØÖa^mhõÚx AÁ©vUP¨£mhx. Q¸ènõ ©ØÖ® 
£õ»ß ¦zuP[PÎÀ SÔ¨÷£k £vÄPøÍ u¸P. 

19. A and B are partners sharing profits in the ratio of 3:1. 
On 31.12.2020 their balance sheet stood as follows : 

 Rs.  Rs. 

Creditors 37,500 Bank 22,500

General Reserve 4,000 Bills Receivable 3,000

A's Capital 30,000 Debtors 16,000

B's Capital 16,000 Stock 20,000

  Furniture 1,000

  Building 25,000

 87,500  87,500

 They admit 'C' into partnership on January 1, 2020 
subject to the following terms : 

 (a) That 'C' pays Rs. 10,000 as capital for a fifth share 
in future profit. 

 (b) Goodwill account to be raised in the books of the 
new firm for Rs. 10,000 

 (c) Stock and Furniture to be reduced by 10% and 
provide 5% reserve for doubtful debts. 

 (d) Building to be appreciated by 20% 

  Prepare necessary ledger accounts of the new firm. 
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 A ©ØÖ® B BQ¯ÁºPÒ 3:1 GßÓ ÂQuzvÀ »õ£zøu¨ 
£Qº¢x öPõÒÐ® TmhõÎPÒ. 31.12.2020 AßÖ 
AÁºPÎß C¸¨¦{ø» SÔ¨¦ ¤ßÁ¸©õÖ. 

 ¹.  ¹. 

PhÜ¢÷uõº 37,500 Á[Q 22,500

ö£õx Põ¨¦  4,000 ©õØÖa^mk 3,000

A  Cß •uÀ 30,000 PhÚõÎPÒ 16,000

B Cß •uÀ 16,000 \μUQ¸¨¦ 20,000

  AøÓP»ß 1,000

  Pmih® 25,000

 87,500  87,500

 ¤ßÁ¸® Âv•øÓPÐUS Em£mk áÚÁ› 1, 2020 AßÖ 
AÁºPÒ 'C' I Tmhõsø©USÒ ÷\ºzxU öPõÒQÓõºPÒ. 

 (A) 'C' GvºPõ» C»õ£zvØPõP I¢uõÁx £[SUPõÚ 
•u»õP ¹. 10,000 ö\¾zxQÓõº. 

 (B) ¦v¯ {ÖÁÚzvß ¦zuP[PÎÀ |Øö£¯º PnUS  
¹. 10,000US E¯ºzu¨£h EÒÍx. 

 (C) \μUQ¸¨¦ ©ØÖ® AøÓP»ß «x 10% SøÓUP¨£k® 
©ØÖ® \¢÷uPzvØS›¯ PhßPÐUS 5% C¸¨¦ 
E¸ÁõUSP. 

 (D) Pmihzvß ©v¨¦ 20% AvP›UP¨£h ÷Ásk®. 

  ¦v¯ {ÖÁÚzvØS ÷uøÁ¯õÚ ÷£÷μmk 
PnUSPøÍ u¯õº ö\´P. 

20. "Z" ltd., invited applications for 10,000 shares of Rs. 10 
each at a discount of 10% payable as follows: On 
application Rs.3, On allotment Rs.3, On First and final 
call Rs.3. Applications were received for all the shares 
and subscribed. All money due was received except the 
first and final call on 500 shares. These shares were 
forfeited and re-issued at Rs.8 per share. Pass necessary 
journal entries in the books of the company. 
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 "Z" {Ö©® 10,000 £[SPÐUPõÚ Âsn¨£[PøÍ ¹. 10 
Ãu® 10% uÒÐ£i°À RÌUPshÁõÖ ö\¾zu¨£i 
AøÇ¨¦ Âkzux. Âsn¨£zvÀ ¹. 3, JxURmiÀ ¹. 3, 
•uÀ ©ØÖ® CÖv AøÇ¨¤ß÷£õx ¹. 3. AøÚzx 
£[SPÐUPõÚ Âsn¨£[PÒ ö£Ó¨£mhÚ. 500 
£[SPÎÀ •uÀ ©ØÖ® CÖv AøÇ¨¦ uÂμ AøÚzx 
£n•® •øÓ¯õP ö£Ó¨£mhx. C¢u¨ £[SPÒ £Ô•uÀ 
ö\´¯¨£mk, £[S JßÖUS ¹. 8 Ãu® ©ÖöÁÎ±k 
ö\´¯¨£mhx. {Ö©zvß ¦zuP[PÎÀ ÷uøÁ¯õÚ 
SÔ¨÷£k £vÄPøÍ u¸P. 

 

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com. (CA) DEGREE 
EXAMINATION, MAY 2024 

Second Semester 

FINANCIAL MANAGEMENT 

 (CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define Financial Management. 

 {v ÷©»õsø©ø¯ Áøμ¯ÖUP. 

2. What do you mean by Rule 69? 

 Âv 69 £ØÔ }Âº AÔÁx GßÚ? 

3. Define the term Cost of capital. 

 ‰»uÚ ö\»Ä GßÓ ö\õÀø» Áøμ¯ÖUP. 

4. What is financial leverage? 

 {v{ø» ö|®¦÷PõÀ GßÓõÀ GßÚ? 

5. State any two merits of payback period method. 

 v¸¨¤a ö\¾zx® Põ» •øÓ°ß H÷uÝ® Cμsk 
|ßø©PøÍ SÔ¨¤hÄ®. 

6. What is trading on equity? 

 £[S ÁºzuP® GßÓõÀ GßÚ? 

Sub. Code 
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7. Write a short note on bank credit. 

 Á[QU Phß £ØÔ J¸ ]Ö SÔ¨ø£ GÊuÄ®. 

8. Indicate any two nature of dividend policy. 

 DÄzöuõøPU öPõÒøP°ß H÷uÝ® Cμsk ußø©PøÍU 

SÔ¨¤hÄ®. 

9. What is Cash? 

 öμõUP® GßÓõÀ GßÚ? 

10. Define working capital. 

 |øh•øÓ ‰»uÚzøu Áøμ¯ÖUP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choose either (a) or (b). 

11. (a) Discuss the approaches to financial management. 

  {v ÷©»õsø©UPõÚ AqS•øÓPøÍ¨ £ØÔ 

ÂÁõvUP. 

Or 

 (b)  Write a note on compounding method. 

  Tmk •øÓ £ØÔ SÔ¨¦ GÊuÄ®. 

12. (a) State the significance of cost of capital. 

  ‰»uÚa ö\»Âß •UQ¯zxÁzøuU SÔ¨¤hÄ®. 

Or 

 (b) Compare operating leverage with composite 

leverage. 

  C¯UP ö|®¦÷Põø» P»¨¦ ö|®¦÷Põ¾hß J¨¤kP. 
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13. (a) State the factors influencing capital budgeting 

decisions. 

  ‰»uÚ vmhªku¼ß •iÄPøÍ £õvUS® 

PõμoPøÍU SÔ¨¤hÄ®. 

Or 

 (b) What are the characteristics of balanced capital 

structure? 

  \©{ø» ‰»uÚ Pmhø©¨¤ß ]Ó¨¤¯À¦PÒ 

¯õøÁ? 

14. (a) List out the sources of short term finance. 

  SÖQ¯ Põ» {v Buõμ[PøÍ £mi¯¼kP. 

Or 

 (b) State the merits and demerits of stable dividend 
policy. 

  {ø»¯õÚ DÄzöuõøPU öPõÒøP°ß |ßø©PÒ 
©ØÖ® wø©PøÍU SÔ¨¤hÄ®. 

15. (a) What are the advantages of working capital? 

  |øh•øÓ ‰»uÚzvß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Explain concentration banking in brief. 

  ö\ÔÄ Á[Qø¯ £ØÔ _¸UP©õP ÂÍUPÄ®. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the various functions of a finance manager. 

 {v ÷©»õÍ›ß £À÷ÁÖ £oPøÍ ÂÁõvUP. 

17. Explain the different types of capital budgeting decisions. 

 ‰»uÚ vmhªkuÀ •iÄPÎß £À÷ÁÖ ÁøPPøÍ 
ÂÍUSP. 
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18. What is weighted average cost of capital? State its 
significance. 

 Gøh°mh \μõ\› ‰»uÚ ö\»Ä GßÓõÀ GßÚ? Auß 
•UQ¯zxÁzøu TÖP. 

19. Describe the different types of dividend policy. 

 DÄzöuõøP öPõÒøP°ß £À÷ÁÖ ÁøPPøÍ ÂÁ›UP. 

20. Enumerate the basic problems in cash management. 

 öμõUP ÷©»õsø©°¾ÒÍ Ai¨£øh ¤μa\øÚPøÍ 
PnUQkP. 

–––––––––––––– 



  

D–4231     

DISTANCE EDUCATION 

COMMON FOR B.Com/B.Com. (CA)  DEGREE 
EXAMINATION, MAY 2024 

Second Semester 

HUMAN RESOURCE MANAGEMENT 

 (CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is Human Resource Management? 

 ©Ûu ÁÍ ÷©»õsø© GßÓõÀ GßÚ? 

2. What is meant by Human Resource Planning? 

 ©Ûu ÁÍ vmhªkuÀ £ØÔ AÔÁx GßÚ?  

3. What is job offer? 

 ÷Áø» Áõ´¨¦ GßÓõÀ GßÚ? 

4. What is meant by recruitment? 

 BÒ ÷\ºzuÀ £ØÔ AÔÁx GßÚ? 

5. Define the term training. 

 £°Ø] GÝ® £uzøu Áøμ¯ÖUP. 

6. What is performance appraisal? 

 ö\¯ÀvÓß ©v¨¥k GßÓõÀ GßÚ? 

Sub. Code 
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7. What is meant by wages? 

 T¼ £ØÔ AÔÁx GßÚ? 

8. Give the meaning of incentive. 

 FUSzöuõøP°ß ö£õ¸øÍz u¸P. 

9. Define ‘Grievance’. 

 ©ÚUSøÓø¯ Áøμ¯ÖUP. 

10. What is Empowerment? 

 AvPõμ©ÎzuÀ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choose either (a) or (b). 

11. (a) Bring out the duties of a HR manager. 

  HR ÷©»õÍ›ß Phø©PøÍ öÁÎUöPõnºP. 

Or 

 (b)  What are the barriers of effective human resource 
planning? Explain. 

  £¯ÝÒÍ ©Ûu ÁÍz vmhªh¼ß uøhPÒ ¯õøÁ? 
ÂÍUSP. 

12. (a) What are the pre-requisites of a good recruitment 
policy? 

  J¸ |À» BÒ ÷\ºzuÀ öPõÒøP°ß •ß÷uøÁPÒ 
¯õøÁ? 

Or 

 (b) Write down the essentials of a good selection 
procedure. 

  J¸ |À» ÷uº¢öukzuÀ ÁÈ•øÓ°ß AÁ]¯zøu 
GkzöuÊxP. 
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13. (a) Point out essential features of a good training 
programme. 

  J¸ |À» £°Ø] vmhzvß AÁ]¯©õÚ A®\[PøÍ 
SÔ¨¤kP. 

Or 

 (b) What are the limitations of performance appraisal? 

  ö\¯ÀvÓß ©v¨¥miß SøÓ£õkPÒ ¯õøÁ? 

14. (a) Outline the objectives of wages and salary 
administration. 

  T¼ ©ØÖ® \®£Í {ºÁõPzvß ÷|õUP[PÍ 
÷PõimkU PõmkP. 

Or 

 (b) Write short notes on :  

  (i) Halsey Plan  

  (ii) Rowan Plan. 

  ]Ö SÔ¨¦ ÁøμP. 

  (i) íÀ] vmh®  

  (ii) ÷μõÁõß vmh®. 

15. (a) Distinguish between positive discipline and 
negative discipline. 

  ÷|º©øÓ JÊUP® ©ØÖ® Gvº©øÓ JÊUPzøu 
÷ÁÖ£kzxP. 

Or 

 (b) What are the objectives of counseling? 

  B÷»õ\øÚ°ß ÷|õUP[PÒ ¯õøÁ? 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Distinguish between human resource management and 
personnel management. 

 ©Ûu ÁÍ ÷©»õsø© ©ØÖ® £o¯õÍº ÷©»õsø©ø¯ 
÷ÁÖ£kzxP. 

17. Briefly explain the various internal sources of 
recruitment. 

 BÒ ÷\ºzu¼ß £À÷ÁÖ EÒ‰»[PøÍ _¸UP©õP 
ÂÍUSP. 

18. Briefly discuss the various methods training. 

 £°Ø]°ß £À÷ÁÖ •øÓPøÍ _¸UP©õP ÂÁõvUP. 

19. Explain the various factors influencing wage and salary 
administration. 

 T¼ ©ØÖ® \®£Í {ºÁõPzøu yshUTi¯ £À÷ÁÖ 
PõμoPøÍ ÂÍUSP. 

20. Compare and contrast domestic and international HRM. 

 EÒ|õmk ©ØÖ® \ºÁ÷u\ HRMI J¨¤mk GÊxP. 

–––––––––––––– 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com. (CA) DEGREE 
EXAMINATION, MAY 2024 

Second Semester 

MARKETING MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

All questions carry equal marks. 

1. What is marketing? 

\¢øu°¯À GßÓõÀ GßÚ? 

2. What is meant by Social Marketing? 

 \‰P \¢øu°¯À £ØÔ AÔÁx GßÚ? 

3. Write short notes on Marketing Strategies. 

 \¢øu°À ²UvPÒ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

4. What is meant by product life cycle? 

 ö£õ¸Ò B²Ò _ÇØ] £ØÔ AÔÁx GßÚ? 

5. What do you understand by price policy? 

 Âø»U öPõÒøP £ØÔ }Âº AÔÁx GßÚ? 

6. What is Branding? 

 Â¯õ£õμUSÔ GßÓõÀ GßÚ? 

Sub. Code 
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7. Give the meaning of product mix. 

 ö£õ¸Ò P»øÁ Gß£uß ö£õ¸Ò u¸P. 

8. Define Advertising. 

 ÂÍ®£μzøu Áøμ¯ÖUP. 

9. What do you mean by Market segmentation? 

 \¢øu £S¨¦ £ØÔ }Âº AÔÁx GßÚ? 

10. What is green marketing? 

 £aø\{Ó \¢øu°¯À GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choose either (a) or (b). 

11. (a) What is marketing concept? What are its 
advantages? 

  \¢øu°¯À P¸zx GßÓõÀ GßÚ? Auß £¯ßPÒ 
¯õøÁ? 

Or 

 (b) Distinguish between marketing and selling. 

  \¢øu°¯À ©ØÖ® ÂØ£øÚø¯ ÷ÁÖ£kzxP. 

12. (a) Explain the different stages in a product life cycle. 

  ö£õ¸Ò B²Ò _ÇØ]°ß £À÷ÁÖ {ø»PøÍ 
ÂÍUSP. 

Or 

 (b) Explain the different classification of goods. 

  ö£õ¸ÒPÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 
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13. (a) What are the factors determining price 
determination? 

  Âø» {ºn¯zøu wº©õÛUS® PõμoPÒ ¯õøÁ? 

Or 

 (b) Why do advertisement fail? Discuss. 

  Hß ÂÍ®£μ® ÷uõÀÂ AøhQßÓÚ? ÂÁõvUP. 

14. (a) Explain the factors to be considered which 
developing a promotion mix. 

   ÷©®£õmk P»øÁ E¸ÁõUSÁvÀ PÁÚzvÀ öPõÒÍ 
÷Ási¯ PõμoPøÍ ÂÍUSP. 

Or 

 (b) What are the objectives of promotion? 

  ÷©®£õmiß ÷|õUP[PÒ ¯õøÁ? 

15. (a) Explain the various elements of service marketing. 

  ÷\øÁ \¢øu°køP°ß £À÷ÁÖ TÖPøÍ ÂÍUSP. 

Or 

 (b) Discuss the benefits of market segmentation. 

  \¢øu¨ £S¨¤ß |ßø©PøÍ ÂÁõvUP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the recent trends in marketing. 

 \¢øu°¯¼ß CßøÓ¯ ÷£õUSPøÍ ÂÁ›UP. 

17. Explain the important aspects of product planning. 

 ö£õ¸mPÒ vmhªku¼ß •UQ¯ A®\[PøÍ ÂÁ›UP. 
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18. Explain the different types of pricing. 

 £À÷ÁÖ ÁøP¯õÚ Âø»PøÍ £ØÔ ÂÁ›UP. 

19. State the advantages and disadvantages of online 
marketing. 

 Cøn¯ÁÈ \¢øu°¯¼ß |ßø©PÒ ©ØÖ® wø©PøÍ 
SÔ¨¤kP. 

20. Explain the need for market segmentation. 

 \¢øu¨ £S¨¤ß AÁ]¯zøu ÂÁ›UP. 

–––––––––––– 
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DISTANCE EDUCATION 

B.Com. DEGREE EXAMINATION, MAY 2024 

Second Semester 

MERCANTILE LAW 

(CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is meant by agreement? 

 J¨£¢u® £ØÔ AÔÁx GßÚ? 

2. Who is called as ‘agent’ and ‘principal’? 

 ‘•PÁº’ ©ØÖ® ‘•uÀÁº’ GÚ AøÇUP¨£k£Áº ¯õº? 

3. What is partnership deed? 

 Tmhõsø© £zvμ® GßÓõÀ GßÚ? 

4. Define Cheque. 

 Põ÷\õø»ø¯ Áøμ¯ÖUP. 

5. What do you mean by incorporation? 

 TmkÖÁõUP® £ØÔ }Âº AÔÁx GßÚ? 

6. What is Compliant? 

 ¦Põº GßÓõÀ GßÚ? 

7. What do you mean by Copy rights? 

 Põ¨¦›ø© £ØÔ }Âº AÔÁx GßÚ? 

Sub. Code 
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8. Write a note on WTO Agreements. 

 WTO J¨£¢u[PÒ £ØÔ ]Ö SÔ¨¦ GÊxP. 

9. What is e-governance? 

 ªß BÐø© GßÓõÀ GßÚ? 

10. Write down the Electronic Records. 

 ªßÚq £vÄPøÍ GÊxP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Bring out the main sources of Indian mercantile 
law. 

  C¢v¯ ÁoPa \mhzvß •UQ¯ Buõμ[PøÍ 
öÁÎUöPõnºP. 

Or 

 (b) What are the modes of discharge of a contract? 

  J¨£¢uzøu ÂkÂ¨£uØPõÚ •øÓPÒ ¯õøÁ? 

12. (a) What are the essential characteristics of a contract 
of sale? 

   ÂØ£øÚ J¨£¢uzvß •UQ¯ £s¦PÒ ¯õøÁ? 

Or 

 (b) Write down the essential features of the 
partnership. 

  Tmhõsø©°ß Azv¯õÁ]¯ A®\[PøÍ GÊxP. 

13. (a) What are the characteristics of a company? 

  J¸ {Ö©zvß Snõv]¯[PÒ ¯õøÁ? 

Or 
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 (b) State the objectives of the Consumer Protection Act, 
1986. 

  ~Pº÷Áõº £õxPõ¨¦a \mh®, 1986 Cß 
÷|õUP[PøÍU SÔ¨¤hÄ®. 

14. (a) What is the meaning and scope of the Competition 
Act 2002? 

  ÷£õmi \mh® 2002 Cß ö£õ¸Ò ©ØÖ® GÀø»PÒ 
¯õøÁ? 

Or 

 (b) Explain the different types of trade marks in brief. 

  £À÷ÁÖ ÁøP¯õÚ ÁºzuP •zvøμPøÍ _¸UP©õP 
ÂÍUSP. 

15. (a) Describe the provisions of Information Technology 
Act, 2000 relating to digital signature certificate. 

  C»UP•øÓ øPö¯õ¨£a \õßÔuÊhß öuõhº¦øh¯ 
uPÁÀ öuõÈÀ~m£a \mh®, 2000 Cß åμzxUPøÍ 
ÂÁ›UPÄ®. 

Or 

 (b) List out the salient features of MSME Act. 

  MSME \mhzvß •UQ¯ A®\[PøÍ £mi¯¼kP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the various methods of contracts. 

 J¨£¢uzvß £À÷ÁÖ •øÓPøÍ ÂÁõvUPÄ®. 

17. What are the differences between bill of exchange and 
promissory note? 

 ©õØÖ^mk ©ØÖ® EÖvö©õÈ ^miØSªøh÷¯²ÒÍ 
÷ÁÖ£õkPÒ ¯õøÁ? 
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18. Explain the various rights of consumers as enunciated by 
the Consumer Protection Act 1986. 

 ~Pº÷Áõº £õxPõ¨¦a \mh® 1986Cß RÌ ~Pº÷Áõ¸UPõÚ 
£À÷ÁÖ E›ø©PøÍ ÂÍUPÄ®. 

19. Explain the various offences and penalties under the 
Competition Act, 2002. 

 ÷£õmia \mh®, 2002ß RÌ EÒÍ £À÷ÁÖ SØÓ[PÒ 
©ØÖ® ushøÚPøÍ ÂÍUPÄ®. 

20. Discuss the duties of ‘Certifying Authority’ under the 
Information Technology Act, 2000. 

 uPÁÀ öuõÈÀ~m£a \mh® 2000&zvß RÌ ‘\õßÓÎUS® 
Bøn¯zvß’ Phø©PøÍ¨ £ØÔ ÂÁõvUPÄ®. 

–––––––––––– 
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DISTANCE EDUCATION 

B.Com./B.Com. (Lateral Entry) DEGREE EXAMINATION, 
MAY 2024. 

Third Semester 

E-COMMERCE 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define E-commerce. 

 ªßÚq ÁoPzøu Áøμ¯ÖUP. 

2. List out the various activities involved in E-commerce. 

 ªßÚq ÁoPzvÀ Ah[Q²ÒÍ £À÷ÁÖ 
ö\¯À£õkPøÍ £mi¯¼kP. 

3. Infer the term Metadata. 

 ö©mhõ÷hmhõ GßÓ ö\õÀø» FQzx GÊxP. 

4. List out the various elements of Internet. 

 Cøn¯zvß £À÷ÁÖ TÖPøÍ £mi¯¼kP. 

5. How firewall help for security? 

 £õxPõ¨¦US L£¯ºÁõÀ G¨£i EuÄQÓx? 

6. Write any two limitations of traditional marketing. 

 £õμ®£›¯ \¢øu¨£kzu¼ß H÷uÝ® Cμsk 
SøÓ£õkPøÍ GÊxP. 
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7. What is meant by SCM? 

 SCM £ØÔ AÔÁx GßÚ? 

8. What do you mean by Enterprise Customer 
Management? 

 {ÖÁÚ ÁõiUøP¯õÍº ÷©»õsø© £ØÔ }Âº AÔÁx 
GßÚ? 

9. Expand : Epay and Paypal. 

 Epay ©ØÖ® Paypal BQ¯ÁØøÓ Â›ÁõUSP. 

10. Give the meaning wireless millennium. 
 Á¯ºö»ì ªÀ¼Û¯® Gß£uß ö£õ¸øÍU TÖP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) Enumerate the various types of E-business model. 
  ªßÚq ÁoP ©õhÀPÎß £À÷ÁÖ ÁøPPøÍ 

£mi¯¼kP.  

Or 

 (b) How Internet has helped in the growth of  
e-commerce? 

  ªßÚq ÁoP ÁÍºa]US Cøn¯® G¨£i 
EuÄQÓx? 

12. (a) Define enterprise information portal. What are the 
advantages of Portal in E-commerce? 

  {ÖÁÚ uPÁÀ Cøn¯•P¨ø£ Áøμ¯ÖUP.  
ªßÚq ÁoPzvÀ Cøn¯•P¨¤ß |ßø©PÒ 
¯õøÁ? 

Or 

 (b) State the meaning of FTP, WWW and SMTP. 

  FTP, WWW ©ØÖ® SMTP BQ¯ÁØÔß ö£õ¸øÍU 
TÖP. 
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13. (a) Illustrate the major types of network security 
threats and vulnerability. 

  Áø»¨¤ßÚÀ £õxPõ¨¤À EÒÍ Aa_ÖzuÀPÒ 
©ØÖ® £õv¨¦PÎß •UQ¯ ÁøPPøÍ ÂÍUSP. 

Or 

 (b) Outline the steps involved in implementing an 
enterprise wide security framework in e-commerce 
environment. 

  ªßÚq ÁoP `Ç¼À J¸ {ÖÁÚ AÍÂ»õÚ 
£õxPõ¨¦ Pmhø©¨ø£ ö\¯À£kzxÁvÀ EÒÍ 
£iPøÍ ÷PõimkU PõmkP. 

14. (a) Explain the electronic logistics and its 
implementation in e-commerce. 

  ªßÚq ÁoPzvÀ ªßÚq uÍÁõh[PÒ ©ØÖ® 
Auß ö\¯»õUP® BQ¯ÁØøÓ ÂÍUSP. 

Or 

 (b) What are the techniques used in decision support 
system for CRM? 

  CRMUPõÚ •iÄ BuμÄ Aø©¨¤À 
£¯ß£kzu¨£k® ~m£[PÒ ¯õøÁ? 

15. (a) What are the four dimensions of mobile computing? 

  ö©õø£À P®¨³mi[Qß |õßS £›©õn[PÒ 
¯õøÁ? 

Or 

 (b) Indicate the recent trends in making online 
payment. 

  Cøn¯ÁÈ¯õP £n® ö\¾zxÁv¾ÒÍ \«£zv¯ 
÷£õUSPøÍU SÔ¨¤kP. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the components and factors for the development 
of E-commerce. 

 ªßÚq ÁoPzvß ÁÍºa]UPõÚ TÖPÒ ©ØÖ® 
PõμoPøÍ ÂÍUSP. 

17. Explain the following :  

 (a) TCP (b) IP (c) HTTP (d) POP (e) ISP. 

 ¤ßÁ¸£ÁÚÁØøÓ ÂÍUSP: 

 (A) TCP (B) IP (C) HTTP (D) POP (E) ISP. 

18. Examine the advantages, disadvantages and important 
application of XML. 

 XML¼ß |ßø©PÒ, wø©PÒ ©ØÖ® •UQ¯©õÚ 
£¯ß£õkPøÍ Bμõ´P. 

19. Elaborate on the process of CRM and application of 
Electronic CRM. 

 CRMß ö\¯À•øÓ ©ØÖ® ªßÚq CRMß 
£¯ß£õkPøÍ Â›ÁõP TÖP. 

20. Discuss the knowledge management strategies for 
different organisation and also knowledge creating 
process. 

 £À÷ÁÖ {ÖÁÚ[PÐUPõÚ AÔÄ ÷©»õsø© EzvPÒ 
©ØÖ® AÔøÁ E¸ÁõUS® ö\¯À•øÓPøÍ £ØÔ 
ÂÁõvUP. 

—————————— 
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AUDITING 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is Cost audit? 

 ö\»Ä uoUøP GßÓõÀ GßÚ? 

2. What is Voucher? 

 \õßÓõ´Ä GßÓõÀ GßÚ? 

3. What is meant by Internal Control? 

 AP Pmk¨£õk £ØÔ AÔÁx GßÚ? 

4. Give the meaning of General Ledger. 

 ö£õxU ÷£÷μmøh £ØÔ ö£õ¸Ò TÖP. 

5. What is Company audit? 

 {ÖÁÚ uoUøP GßÓõÀ GßÚ? 

6. Trace the meaning of Calls in arrear. 

 AøÇ¨¦ {¾øÁ GÝ® ö£õ¸øÍ u¸ÂUP. 

 

Sub. Code 
10232/12532



D–4235 
   2

7. How do you conduct branch audit? 

 QøÍ uoUøPø¯ G¨£i |hzxÁõ´? 

8. Who is appoints statutory auditor? 

 \mh¨§ºÁ uoUøP¯õÍøμ {¯ª¨£Áº ¯õº? 

9. What are the receipts of a club? 

 Jμ ©Ú©QÌ ©ßÓzvß ö£ÖuÀPÒ ¯õøÁ? 

10. What is Electronic auditing? 

 ªßÚq uoUøP GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) What are the characteristics of good internal 
control? 

  ]Ó¢u APUPmk¨£õmiß Snõv\¯[PÒ ¯õøÁ? 

Or 

 (b) What are the points to be noted by the auditor while 
vouching payment of wages? 

  T¼ ö\¾zxÁuØPõÚ Buõμa^mk uoUøP°ß 
÷£õx uoUøP¯õÍº PÁÛUP ÷Ási¯ 
ö|Ô•øÓPÒ ¯õøÁ? 

12. (a) What are the different types of assets? 

  ö\õzxUPÎß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

Or 

 (b) Enumerate the rules of verification. 

  \›£õºzu¼ß  ÂvPøÍ Gkzv¯®¦P. 
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13. (a) Explain the procedure for the removal of an auditor. 

  uoUøP¯õÍøμ APØÖÁuØPõÚ |øh•øÓø¯ 
ÂÍUSP. 

Or 

 (b) Explain the powers of an auditor of a company. 

  P®ö£Ûz uoUøP¯õÍõ›ß AvPõμ[PøÍ ÂÁ›UP. 

14. (a) What are the advantages of branch audit? 

  QøÍ uoUøP°ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) What are the duties of Cost auditor? 

  ö\»Ä uoUøP¯õÍ›ß Phø©PÒ ¯õøÁ? 

15. (a) Describe the liabilities of company auditor. 

  {ÖÁÚ uoUøP¯õÍ›ß ö£õÖ¨¦PøÍ ÂÁ›UPÄ®. 

Or 

 (b) What are the objectives of investigation? 

  ¦»Úõ´Âß ÷|õUP[PÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Briefly discuss the objects of an audit. 

 J¸ uoUøP°ß ÷|õUP[PøÍ _¸UP©õP ÂÁõvUP. 

17. What are the points to be kept in mind by the auditor 
while verifying stock in trade? 

 \μUQ¸¨ø£ \›£õºUS® ÷£õx uoUøP¯õÍº uÚx 
©ÚvÀ {ÖzvU öPõÒÍ ÷Ási¯ ö|Ô•øÓPÒ ¯õøÁ? 
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18. Explain the different modes of appointment of company 
auditors. 

 {Ö© uoUøP¯õÍºPøÚ {¯©Ú® ö\´ÁuØPõÚ 
öÁÆ÷ÁÖ ÁÈPøøÍ ÂÍUSP. 

19. What is meant by statutory audit? Bring out its 
advantages and disadvantages. 

 \mh•øÓ uoUøP GßÓõÀ GßÚ? AuÝøh¯ ußø©PÒ 
©ØÖ® wø©PøÍ öÁÎUöPõnºP. 

20. Discuss about the audit of cinema theatre. 

 ]Û©õ v÷¯mhº uoUøPø¯ £ØÔ ÂÁõvUPÄ®. 

—————————— 
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MERCHANT BANKING AND FINANCIAL SERVICES 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define Merchant Banking. 

 ÁoP Á[Q°¯ø» Áøμ¯ÖUP. 

2. What do you mean by Right Issue? 

 E›ø© öÁÎ±k £ØÔ }Âº AÔÁx GßÚ? 

3. What is meant by Call Options? 

 AøÇ¨¦ Â¸¨£[PÒ £ØÔ AÔÁx GßÚ? 

4. Define Global Depository Receipt. 

 E»PÍõÂ¯ øÁ¨¦z öuõøP μ^øu Áøμ¯ÖUP. 

5. What do you mean by Hire Purchase? 

 ÁõhøP öPõÒ•uÀ £ØÔ }Âº AÔÁx GßÚ? 

6. Are mutual funds risk-free? 

 £μì£μ {v B£zx CÀ»õux? 
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7. What is Merger? 

 Cøn¨¦ GßÓõÀ GßÚ? 

8. What is the main objective of Portfolio Theory? 

 C»õPõ •u½mk £mi¯À ÷Põm£õmiß •UQ¯ ÷|õUP® 
GßÚ? 

9. What do you mean by Venture Capital? 

 xoPμ •u½k £ØÔ }Âº AÔÁx GßÚ? 

10. What is Factoring? 

 HmkUPhßuμS GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Distinguish between public offer and offer for sale 
on stock exchange. 

  £[S \¢øu «uõÚ ö£õx •øÚÄ ©ØÖ® 
ÂØ£øÚUPõÚ •øÚøÁ ÷ÁÖ£kzxP. 

Or 

 (b) What are the main functions of financial system? 

  {v Aø©¨¤ß •UQ¯ ö\¯À£õkPÒ ¯õøÁ? 

12. (a) What are the main features of financial services? 

  {va ÷\øÁPÎß •UQ¯ A®\[PÒ ¯õøÁ? 

Or 

 (b) What are the benefits of depository system? 

  øÁ¨¦ •øÓø©°ß |ßø©PÒ ¯õøÁ? 
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13. (a) Distinguish between financial lease and operating 
lease. 

  {vU SzuøP ©ØÖ® ö\¯À•øÓU SzuøPø¯ 
÷ÁÖ£kzxP. 

Or 

 (b) Explain the significance of mutual funds. 
  £μì£μ {vPÎß •UQ¯zxÁzøu ÂÍUSP. 

14. (a) Explain the main features of hire purchase. 
  ÁõhøP öPõÒ•u¼ß •UQ¯ A®\[PøÍ ÂÍUSP. 

Or 

 (b) Explain the significance of portfolio management. 
  C»õPõ •u½mk £mi¯À ÷©»õsø©°ß 

•UQ¯zxÁzøu ÂÍUSP. 

15. (a) What are the benefits of securitization? 
  £zvμ©¯©õUP¼ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Explain the main features of venture capital. 
  xoPμ •u½miß •UQ¯ A®\[PøÍ ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss how the financial system contributes to a 
country’s economic development. 

 J¸ |õmiß ö£õ¸Íõuõμ ÁÍºa]US {v Aø©¨¦ 
GÆÁõÖ £[PÎUQÓx Gß£øu¨ £ØÔ ÂÁõvUP. 

17. Discuss in detail about the evaluation of Global 
Depository Receipt. 

 E»PÍõÂ¯ øÁ¨¦z öuõøP μ^x ©v¨¥k £ØÔ Â›ÁõP 
ÂÁ›UP. 
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18. Explain the different types of lease. 

 SzuøP°ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

19. Explain any ten steps involved in mergers and 
acquisition deal process. 

 Cøn¨¦PÒ ©ØÖ® øP¯P¨£kzuÀ J¨£¢ua 
ö\¯À£õmiÀ EÒÍ H÷uÝ® £zx £iPøÍ ÂÍUSP. 

20. Explain the functions of stock exchange in detail. 

 £[Sa \¢øu°ß ö\¯À£õkPøÍ Â›ÁõP ÂÍUSP. 

—————————— 
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Third Semester 

MANAGERIAL ECONOMICS 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define the term Managerial Economics. 

 ÷©»õsø© ö£õ¸Î¯À GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

2. What is elasticity of demand? 

 ÷uøÁ ö|QÌa] GßÓõÀ GßÚ? 

3. What is Market Equilibrium? 

 \¢øu \©{ø» GßÓõÀ GßÚ? 

4. What is Sunk Costs? 

 ‰ÌQ¯ ö\»ÄPÒ GßÓõÀ GßÚ? 

5. What do you mean by Cost analysis? 

 ö\»Ä £S¨£õ´Ä £ØÔ }Âº AÔÁx GßÚ? 

6. What is Profit? 

 C»õ£® GßÓõÀ GßÚ? 

 

Sub. Code 
10234/12534/12334/12834



D–4237 
  2

7. What is Monopoly? 

 •ØÖ›ø© GßÓõÀ GßÚ? 

8. List out the Industry analysis. 

 öuõÈÀ £S¨£õ´øÁ £mi¯¼kP. 

9. What is Accelerator effect? 

 •kUQ ÂøÍÄ GßÓõÀ GßÚ? 

10. What is Business Cycle? 

 ÁoP _ÇØ] GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Bring out the nature of managerial economics. 

  ÷©»õsø© ö£õ¸Î¯¼ß ußø©PøÍ öÁÎU 
öPõnºP. 

Or 

 (b) Briefly explain the functions of a Managerial 
Economist. 

  J¸ ÷©»õsø© ö£õ¸Íõuμ ÁÀ¾|›ß 
ö\¯À£õkPøÍ _¸UP©õP ÂÍUSP. 

12. (a) Explain law of supply in brief. 

  AÎ¨¦ Âvø¯ _¸UP©õP ÂÍUSP. 

Or 

 (b) State and explain factors of production. 

  EØ£zvU PõμoPøÍU SÔ¨¤mk ÂÍUSP. 
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13. (a) Elaborate on the Profit maximization models. 

  C»õ£zøu¨ ö£¸US® ©õv›ø¯ ÂÁ›UP. 

Or 

 (b) What are the objectives of the pricing policy? 

  Âø»°hÀ öPõÒøP°ß ÷|õUP[PÒ ¯õøÁ? 

14. (a) Briefly explain the various types of price leadership. 

  Âø»°hÀ uø»ø©zxÁzvß £À÷ÁÖ ÁøPPøÍ 
_¸UP©õP ÂÍUPÄ®. 

Or 

 (b) Explain the various types of duopoly. 

  C¸Áº •ØÖø©°hÀ \¢øu°ß £À÷ÁÖ ÁøPPøÍ 
ÂÍUPÄ®. 

15. (a) Write a short note on Instruments of Stabilization 
Policy. 

  {ø»¨£kzuÀ öPõÒøP°ß P¸ÂPÒ £ØÔ J¸ ]Ö 
SÔ¨ø£ GÊuÄ®. 

Or 

 (b) Briefly explain the different kinds of inflation. 

  £À÷ÁÖ ÁøP¯õÚ £nÃUPzøu _¸UP©õP 
ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the various types of elasticity of demand. 

 ÷uøÁ ö|QÌa]°ß £À÷ÁÖ ÁøPPøÍ ÂÁõvUPÄ®. 

17. What are the factors determining elasticity of supply? 

 AÎ¨¦ ö|QÌa]ø¯ wº©õÛUS® PõμoPÒ ¯õøÁ? 
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18. Explain the different methods of Pricing. 

 Âø»°h¼ß öÁÆ÷ÁÖ •øÓPøÍ ÂÍUSP. 

19. Explain the various types of market structures. 

 £À÷ÁÖ ÁøP¯õÚ \¢øu Tmhø©¨¦PøÍ ÂÍUSP. 

20. State and explain the features of business cycle. 

 ÁoPa _ÇØ]°ß A®\[PøÍU SÔ¨¤mk ÂÍUPÄ®. 

—————————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is Uncertainly? 

 EÖv¯ØÓ ußø© GßÓõÀ GßÚ? 

2. Define Insurance. 

 Põ¨¥k Áøμ¯ÖUP. 

3. What is meant by whole life policy? 

 B²Ò •Êø©U Põ¨¥k £ØÔ AÔÁx GßÚ? 

4. What do you mean by insurable interest? 

 Põ¨¥k ö£ÖuÀPÒ £ØÔ }Âº AÔÁx GßÚ? 

5. State any two code of conduct for agent. 

 Põ¨¥mk •PÁ¸UPõÚ |hzøuU SÔ±miÀ H÷uÝ® 
CμsøhU TÖP. 

6. What is general insurance? 

 ö£õx Põ¨¥k GßÓõÀ GßÚ? 
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7. What is meant by insurance claim? 

 Põ¨¥mk ÷Põ¸›ø© £ØÔ AÔÁx GßÚ? 

8. What is meant by proposal form? 

 •ß ö©õÈÄ £iÁ® £ØÔ AÔÁx GßÚ? 

9. What do you mean by optimal pricing? 

 Ezu© Âø»°kuÀ £ØÔ }Âº AÔÁx GßÚ? 

10. What is over insurance? 

 AvP©õÚ Põ¨¥k GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) What are the various principles of risk insurance? 

  Chº Põ¨¥miß £À÷ÁÖ öPõÒøPPÒ ¯õøÁ? 

Or 

 (b) What are the challenges faced by insurance sector? 

  Põ¨¥mk xøÓ \¢vUPTi¯ \ÁõÀPÒ ¯õøÁ? 

12. (a) What are the procedures for affecting a Life 
insurance policy? 

  B²Ò Põ¨¥møh |øh•øÓ£kzxÁuØPõÚ •UQ¯ 
ÁÈ•øÓPøÍ ÂÁõvUPÄ®. 

Or 

 (b) Distinguish between fire insurance and marine 
insurance. 

  w Põ¨¥k ©ØÖ® PhÀ\õº Põ¨¥møh ÷ÁÖ£kzxP. 
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13. (a) Explain the different types of liabilities insurance. 

  ö£õÖ¨¦PÒ Põ¨¥miß öÁÆ÷ÁÖ ÁøPPøÍ 
ÂÍUSP. 

Or 

 (b) What are the factors influencing new product 
development in insurance? 

  Põ¨¥miÀ ¦v¯ ö£õ¸Ò •ß÷ÚØÓzøu 
yshUTi¯ PõμoPÒ ¯õøÁ? 

14. (a) Briefly explain the various factors that affect the 
underwriting process. 

  J¨¦Öv ö\¯À•øÓø¯ £õvUS® £À÷ÁÖ 
PõμoPøÍ _¸UP©õP ÂÍUSP. 

Or 

 (b) Enumerate the stages for settlement of claim. 

  ÷Põ¸›ø© wºUP¨£kÁuØS›¯ {ø»PøÍ 
GkzxøμUP. 

15. (a) What are the principles of insurance pricing? 

  Põ¨¥mk Âø»°h¼ß öPõÒøPÒ ¯õøÁ? 

Or 

 (b) What are the features of reinsurance? 

  ©ÖPõ¨¥miß A®\[PÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the privatization of insurance sector in India in 
detail. 

 C¢v¯õÂÀ Põ¨¥mk xøÓø¯ uÛ¯õº©¯©õUSuÀ £ØÔ 
ÂÁõvUP. 

17. Explain the various types of life policies. 

 B²Ò Põ¨¥mk vmhõÁnzvß £À÷ÁÖ ÁøPPøÍ 
ÂÁ›UP. 
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18. Elaborate the various functions of an insurance agent. 

 J¸ Põ¨¥mk •PÁ¸øh¯ £oPøÍ ÂÍUSP. 

19. Discuss the procedure involved in death claim. 

 CÓ¨¦ ÷Põ¸›ø©°¾ÒÍ ö\¯À•øÓPøÍ ÂÁõvUP. 

20. Discuss the importance of financial management in 
insurance companies. 

 Põ¨¥mk {ÖÁÚ[PÎß {v ÷©»õsø©°ß 
•UQ¯zxÁzøu ÂÁõvUP. 

———————— 
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PART A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What do you mean by Statistics? 

 ¦ÒÎ°¯À £ØÔ {Ãº AÔÁx GßÚ? 

2. What is meant by Standard Deviation? 

 vmhÂ»UP® £ØÔ AÔÁx GßÚ? 

3. What is Probability? 

 {PÌuPÄ GßÓõÀ GßÚ? 

4. What do you mean by Addition theorem? 

 TmhÀ ÷uØÓ® £ØÔ }Ãº AÔÁx GßÚ? 

5. What do you mean by Sample? 

 ©õv› £ØÔ }Ãº AÔÁx GßÚ? 
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6. What is meant by two tailed test? 

 Cμsk ÁõÀ ÷\õuøÚ £ØÔ }Ãº AÔÁx GßÚ? 

7. What is Correlation? 

 Ehß öuõhº¦ GßÓõÀ GßÚ? 

8. Bring out any two uses of Regression analysis. 

 öuõhº¦ ÷£õUS £S¨£õ´Âß H÷uÝ® Cμsk 
£¯ßPøÍz u¸P.  

9. What is Moving average? 

 |P¸® \μõ\› GßÓõÀ GßÚ? 

10. Define Index number. 

 SÔ±mk Gsøn Áøμ¯ÖUP.  

PART B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a)  State the various functions of statistics. 

  ¦ÒÎ°¯¼ß £À÷ÁÖ £oPøÍU TÖP.  

Or 

 (b) Find out the value of quartile deviation and its 
coefficient from the following data: 
Roll No.  1 2 3 4 5 6 7 

Marks  20 28 40 30 50 60 52

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x PõÀ©õÚ Â»UP® ©ØÖ® 
AuÝøh¯ öPÊøÁU PnUQkP.  

Roll No.  1 2 3 4 5 6 7 

Marks  20 28 40 30 50 60 52
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12. (a) A problem in statistics is given to three students A, 

B and C. Their chances of solving it are 1/2, 1/3 and 

1/4 respectively. What is the probability that the 

problem will be solved?  

  ¦ÒÎ°¯¼ß J¸ PnUPõÚx A, B ©ØÖ® C BQ¯ 

‰ßÖ ©õnÁºPÐUS öPõkUP¨£mhx. AÁºPÒ 

AUPnUøP wº¨£uØPõÚ Áõ´¨¦ •øÓ÷¯ 1/2 , 1/3 

©ØÖ® 1/4 BS®. AUPnUøP wº¨£uØPõÚ {PÌuPÄ 

GßÚ? 

Or 

 (b) Two dice are thrown. Find the probability that  

(i)  The total of the numbers on the dice is 7  

  (ii)  The total of the numbers on the dice is greater 

than 7  

  (iii) Both the dice show the same numbers  

  (iv)  The total of the numbers on the dice is 13. 

  C¸ £PøhPÒ E¸mh¨£mhÚ. ¤ßÁ¸ÁÚÁØÔØS 

{PÌuPÄ PshÔP.  

  (i) £PøhPÎß «uõÚ GsPÎß ö©õzu® 7 

  (ii) £PøhPÎß «uõÚ GsPÎß ö©õzu® 7US® 

AvP®  

  (iii) C¸ £PøhPÐ® J÷μ Gsøn Põs¤UQßÓÚ.  

  (iv) £PøhPÎß «uõÚ GsPÎß ö©õzu® 13 
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13. (a) A sample of 1000 students from Bombay university 
was taken and their average weight was found to be 
112 lbs with a standard deviation of 20lbs. Could 
the mean weight of the students in the population 
be 120 pounds? 

  £õ®÷£ £ÀPø»PÇPzv¼¸¢x 1000 ©õnÁºPÒ 
©õv›¯õP GkUP¨£mhÚº. AÁºPÎß \μõ\› Gøh 
112 £Äsm ©ØÖ® vmh Â»UP® 20 £Äsm BS®. 
©UPÒ öuõøP°À ©õnÁºPÎß \μõ\› Gøh 120 
£ÄskPÍõP C¸UP •i²©õ? 

Or 

 (b) Give the various applications of Chi-square test. 

  øP&\xμ ÷\õuøÚ°ß £À÷ÁÖ £¯ß£õkPøÍ u¸P.  

14. (a) Find regression lines. 

X 40 38 35 42 30

Y 30 35 40 36 29

  öuõhº¦ ÷£õUS ÷PõkPøÍ PõsP.  

X 40 38 35 42 30

Y 30 35 40 36 29

Or 

 (b) What are the advantages of business forecasting? 

Â¯õ£õμ •ßÚÔÂ¨¤ß |ßø©PÒ ¯õøÁ? 

15. (a)  Compute the trend from the following by the 
method of least squares: 

Year  2000 2001 2002 2003 2004

Population (in lakhs) 830 920 710 900 1690
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  SøÓ¢u ÁºUP •øÓø¯ ¤ß£ØÔ ¤ßÁ¸® 

uPÁÀPÎ¼¸¢x ÷£õUøP PnUQkP. 

Bsk  2000 2001 2002 2003 2004

•UPÒ öuõøP (C»m\zvÀ) 830 920 710 900 1690

Or 

 (b) What are the uses of cost of living index? 

ÁõÌUøPa ö\»Ä SÔ±möhÝøh¯ £¯ßPÒ 

¯õøÁ? 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Scores obtained by two teams are as follows.  

Team ‘A’ Team ‘B’ 

15 20 

10 10 

7 5 

5 4 

3 2 

2 1 

42 42 

 Calculate co-efficient of variation and state which team is 

more consistent. 
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 Cμsk SÊUPÒ ö£ØÓ ¦ÒÎ ÂÁμ® ¤ßÁ¸©õÖ.  
SÊ ‘A’ SÊ ‘B’ 

15 20 

10 10 

7 5 

5 4 

3 2 

2 1 

42 42 
 ©õÖ£õmkU öPÊøÁ PnUQmk G¢u SÊÁõÚx ªPÄ® 

{ø»¯õP ÂøÍ¯õkQÓx Gß£øu²® TÖP.  

17. A bag contains 5 red and 7 black balls. Find the 
probability that the first draw will give 3 red and second 
draw gives 2 black balls, when (a) balls are replaced after 
the first draw, (b) balls are not replaced after the first 
draw. 

 J¸ ø£°À 5 ]P¨¦ ©ØÖ® 7 P¸¨¦ £¢uPÐ® EÒÍÚ. 
•uÀ uhøÁ £¢xPøÍ GkUS® ö£õÊx 3 ]P¨¦ 
£¢xPÐ® ©ØÖ® Cμshõ® uhøÁ £¢xPøÍ GkUS® 
ö£õÊx 2 P¸¨¦ £¢xPÐ® ÂÊÁuØPõÚ {PÌuPøÁ 
¤ßÁ¸® {ø»PÎÀ PõsP. (A) •uÀ uhøP £¢xPøÍ 
Gkzu ¤ÓS v¸®£øÁzuõÀ (B) •uÀ uhøÁ £¢xPøÍ 
Gkzu ¤ÓS v¸®£ øÁUPõ©¼¢uõÀ. 

18. Two independent samples of 8 and 7 items respectively 
had the following values of the variables. 

Sample I 9 11 13 11 15 9 12 14

Sample II 10 12 10 14 9 8 10 - 

 Do the estimates of population variance differ 
significantly. 

 •øÓ÷¯ 8 ©ØÖ® 7 E¸¨¦iPÎß Cμsk ußÛaø\¯õÚ 
©õv›PÎß ©õÔPÎ¾ÒÍ ©v¨¦PÍõÚx ¤ßÁ¸©õÖ.  

©õv› I 9 11 13 11 15 9 12 14

©õv› II 10 12 10 14 9 8 10 - 
 ©UPÒ öuõøP ©õÖ£õmiß ©v¨¥kPÒ PÛ\©õP 

÷ÁÖ£kQßÓÚÁõ? 
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19. From the following data calculate Karl Pearson  
Co-efficient of correlation.  

X 6 2 10 4 8

Y 9 11 ? 8 7

 Arithmetic means of X and Y series are 6 and 8 
respectively. 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x PõμÀ ¤¯ºéÛß Ehß 
öuõhº¦ öPÊøÁU PnUQkP.  

X 6 2 10 4 8

Y 9 11 ? 8 7

 X ©ØÖ® Y öuõh›ß Tmk \μõ\› •øÓ÷¯ 6 ©ØÖ® 8 
BS®.  

20. Compute the average seasonal movements for the time 
series given below. 

Year Quarterly Production

 I II III IV 

1980 3.5 3.9 3.4 3.6 

1981 3.5 4.1 3.7 4.0 

1982 3.5 3.9 3.7 4.2 

1983 4.0 4.6 3.8 4.5 

1984 4.1 4.4 4.2 4.5 

 R÷Ç öPõkUP¨£mkÒÍ Põ»z öuõhº Á›ø\US \μõ\› 
£¸ÁPõ» ©õÖuÀPøÍU PnUQkP.  

Bsk Põ»õsk EØ£zv

 I II III IV 

1980 3.5 3.9 3.4 3.6

1981 3.5 4.1 3.7 4.0

1982 3.5 3.9 3.7 4.2

1983 4.0 4.6 3.8 4.5

1984 4.1 4.4 4.2 4.5

——————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is open office? 

 vÓ¢u A¾Á»P® GßÓõÀ GßÚ? 

2. What is office organization? 

 A¾Á»P Aø©¨¦ GßÓõÀ GßÚ? 

3. What is office system? 

 A¾Á»P •øÓø© GßÓõÀ GßÚ? 

4. What is meant by office layout? 

 A¾Á»P Aø©¨¦ £ØÔ AÔÁx GßÚ? 

5. What is meant by stationery? 

 GÊxö£õ¸Ò £ØÔ AÔÁx GßÚ? 

6. State any two principles of form designing. 

 £iÁ ÁiÁø©zu¼ß H÷uÝ® Cμsk ÷Põm£õkPøÍ 
u¸P. 
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7. What do you mean by horizontal filing system? 

 Qøh{ø»U ÷Põ¨¤kuÀ •øÓ £ØÔ }Âº AÔÁx GßÚ? 

8. State any two advantages of written communication. 

 GÊzx ‰»©õÚ uPÁÀ öuõhº¤ß H÷uÝ® Cμsk 
|ßø©PøÍ TÖP. 

9. What is outward mail? 

 öÁÎa ö\À¾® Ag\À GßÓõÀ GßÚ? 

10. What is punched card machine? 

 xøÍ°h¨£mh Põºk C¯¢vμ® GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the role of office manager in modern office. 

  |ÃÚ A¾Á»PzvÀ A¾Á»P ÷©»õÍ›ß £[øP 
GkzxøμUP. 

Or 

 (b) What are importance of office organisation? 

  A¾Á»P Aø©¨¤ß •UQ¯zxÁ[PÒ ¯õøÁ? 

12. (a) Write any five advantages of good office layout. 

  |À» A¾Á»P uÍÁø©¨¤ß H÷uÝ® I¢x 
|ßø©PøÍ GÊxP. 

Or 

 (b) What factors would you take account in designing 
chairs? 

  |õØPõ¼PøÍ ÁiÁø©¨£vÀ }[PÒ GßöÚßÚ 
PõμoPøÍ PnUQÀ GkzxU öPõÒÍ ÷Ásk®? 
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13. (a) Bring out the reasons for measuring office work. 

  A¾Á»P  ÷Áø»PøÍ AÍÂkÁuØPõÚ 
Põμn[PøÍ u¸P. 

Or 

 (b) What are the principles of form designing? 

  £iÁ ÁiÁø©zu¼ß ÷Põm£õkPÒ GßÚ? 

14. (a) Differentiate horizontal filing system and vertical 
filing system. 

  Qøh{ø»U ÷Põ¨¤kuÀ •øÓUS® ö\[SzxU 
÷Põ¨¤kuÀ •øÓUS® EÒÍ ÷ÁÖ£õkPøÍ u¸P. 

Or 

 (b) State the advantages and disadvantages of 
centralized correspondence. 

  ø©¯¨£kzu¨£mh Piu£›©õØÓzvß |ßø©PÒ 
©ØÖ® wø©PøÍU SÔ¨¤hÄ®. 

15. (a) Bring out the importance of communication. 

  uPÁÀ öuõhº¤ß •UQ¯zxÁ[PøÍ u¸P. 

Or 

 (b) Write short notes on :  

  (i) Addressing machine  

  (ii) Electronic data processing 

  ]Ö SÔ¨¦ ÁøμP. 

  (i) Eøμ¯õØÖ® C¯¢vμ® 

  (ii) ªßÚq uμÄ ö\¯»õUP® 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the various steps of office organization. 

 A¾Á»P Aø©¨¤ß £À÷ÁÖ £iPøÍ ÂÍUSP. 

17. Discuss the various factors which influence the physical 
environment of an office. 

 J¸ A¾Á»Pzvß EÒ Aø©¨¦a \õº¢u _ØÖa`Çø» 
ysk® £À÷ÁÖ PõμoPøÍ ÂÁõvUP. 

18. Describe the different types of office forms. 

 A¾Á»P £iÁ[PÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

19. Explain the various steps in the process of 
communication.  

 uPÁÀ öuõhº¦ ö\¯À£õmiÀ EÒÍ £À÷ÁÖ £iPøÍ 
ÂÍUSP. 

20. State the principles of office machines and equipment 
selection. 

 A¾Á»P C¯¢vμ[PÒ ©ØÖ® E£Pμn[PøÍz 
÷uº¢öuk¨£uØPõÚ öPõÒøPPøÍU SÔ¨¤hÄ®. 

—————————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define Management accounting. 

 ÷©»õsø© PnUQ¯ø» Áøμ¯ÖUP. 

2. State any two objectives of Budgetary Control. 

 vmh£mi¯À Pmk¨£õmiß H÷uÝ® Cμsk 
÷|õUP[PøÍ TÖP. 

3. What is Sales Variance? 

 ÂØ£øÚ ©õÖ£õk GßÓõÀ GßÚ? 

4. What is meant by Margin of safety? 

 £õxPõ¨¦ GÀø» £ØÔ AÔÁx GßÚ?  

5. What is Financial Statement? 

 {v{ø» AÔUøP GßÓõÀ GßÚ? 

6. What is Operating ratio? 

 ö\¯À£õmk ÂQu® GßÓõÀ GßÚ? 

7. What is working capital? 

 |øh•øÓ ‰»uÚ® GßÓõÀ GßÚ? 
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8. State any two limitations of Cash Flow Statement. 

 öμõUP Kmh AÔUøP°ß H÷uÝ® Cμsk SøÓ£õkPøÍ 
TÖP. 

9. What is capital budgeting? 

 ‰»uÚ vmhªkuÀ GßÓõÀ GßÚ? 

10. What do you mean by inflation accounting? 

 £nÃUP PnUQ¯À £ØÔ }Âº AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11.  (a) What are the features of management accounting. 

   ÷©»õsø© PnUQ¯¼ß A®\[PÒ ¯õøÁ? 

Or 

 (b) From the following particulars prepare the Raw 
Materials Purchase Budget for October 2013: 

 Materials (in units) 

 A B C 

Estimated stock on 01.10.2013 16,000 6,000 24,000

Estimated stock on 31.10.2013 20,000 8,000 28,000

Estimated consumption 1,20,000 44,000 1,32,000

Standard price per unit (paise) 25 05 15
 
 D E F 

Estimated stock on 01.10.2013 2,000 14,000 28,000

Estimated stock on 31.10.2013 4,000 16,000 32,000

Estimated consumption 36,000 88,000 1,72,000

Standard price per unit (paise) 10 20 30
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   ¤ßÁ¸® Â£μ[PÎ¼¸¢x ‰»¨ö£õ¸Ò öPõÒ•uÀ 

vmhzøu AU÷hõ£º 2013&À u¯õ›UP. 

 ‰»¨ö£õ¸ÒPÒ  

(A»SPÎÀ) 

 A B C 

01.10.2013&À wº©õÛUP¨£mh 

\μUQ¸¨¦ 

16,000 6,000 24,000

31.10.2013&À wº©õÛUP¨£mh 

\μUQ¸¨¦ 

20,000 8,000 28,000

wº©õÛUP¨£mh ~PºÄ 1,20,000 44,000 1,32,000

Kμ»QØPõÚ {ºn¯ Âø»  

(ø£\õ) 

25 05 15

 

 D E F 

01.10.2013&À wº©õÛUP¨£mh 

\μUQ¸¨¦ 

2,000 14,000 28,000

31.10.2013&À wº©õÛUP¨£mh 

\μUQ¸¨¦ 

4,000 16,000 32,000

wº©õÛUP¨£mh ~PºÄ 36,000 88,000 1,72,000

Kμ»QØPõÚ {ºn¯ Âø»  

(ø£\õ) 

10 20 30
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12.  (a) ABC Ltd had budgeted the sales for December 2018.  

    Product A : 800 units @ Rs.40 per unit 

    Product B: 1000 units @ Rs.60 per unit 

   The actual sales were: 

     Product A: 900 units @ Rs.45 per unit 

     Product B: 1100 units @ Rs.70 per unit 

   The cost per unit of A and B was Rs.35 Rs.50 

respectively. 

   Calculate sales variance. 

    ABC {Ö©® i\®£º 2018 AßøÓ¯ vmhªmh 

ÂØ£øÚ ¤ßÁ¸©õÖ 

   ö£õ¸Ò A & 800 A»SPÒ & A»S JßÖUS ¹.40 

Ãu® 

  ö£õ¸Ò B & 1000 A»SPÒ & A»S JßÖUS ¹.60 

Ãu® 

   Esø©¯õÚ ÂØ£øÚ ¤ßÁ¸©õÖ: 

  ö£õ¸Ò A & 900 A»SPÒ & A»S JßÖUS ¹.45 

Ãu® 

  ö£õ¸Ò B & 1100 A»SPÒ & A»S JßÖUS ¹.70 

Ãu® 

   Kº A»QØPõÚ A ©ØÖ® B ö£õ¸Îß AhUPÂø» 

¹.35 ©ØÖ® ¹.50 BS®.  

   ÂØ£øÚ ©õÖ£õmøh PõsP. 

Or 
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 (b) From the following particulars find out the Break 
Even Point. What will be the selling price per unit if 
Break Even Point is to be brought down to 9,000 
units? 

 Rs.

Variable cost per unit 75

Fixed expenses 2,70,000

Selling price per unit 100

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x C»õ£ |mh©ØÓ 
¦ÒÎø¯ PnUQkP. ÷©¾® C»õ£ |mh©ØÓ 
¦ÒÎ¯õÚx 9,000 A»QØS SøÓ²® ö£õÊx J¸ 
A»QØPõÚ ÂØ£øÚ Âø» GßÚ? 

  ¹.

J¸ A»QØPõÚ ©õÖ® ö\»Ä 75

{ø»¯õÚ ö\»ÂÚ[PÒ 2,70,000

J¸ A»QØPõÚ ÂØ£øÚ Âø» 100

13.  (a) Compare analysis and interpretation of financial 
statements. 

    {v{ø» AÔUøP°Ýøh¯ £S¨£õ´Ä ©ØÖ® 
ÂÍUPÄøμø¯ J¨¤kP. 

Or 

 (b) Explain the following:  

   (i)  Debt-Equity Ratio  

   (ii) Operating Ratio  

   (iii) Acid Test Ratio  

   (iv) Current Ratio. 

    ¤ßÁ¸£ÁÚÁØøÓ ÂÍUSP:  

     (i) Phß&ö£õx ÂQu®  

    (ii) ö\¯À£õmk ÂQu®  

    (iii)  Aª» ÷\õuøÚ ÂQu®  

    (iv) |h¨¦ ÂQu®. 
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14.  (a) From the following information calculate funds from 

operations. 

 2016 (Rs.) 2017 (Rs.)

Profit and loss account 25,000 40,000

General reserve 40,000 45,000

Goodwill 7,000 4,000

Preliminary expenses  5,000 3,000

Provision for depreciation on 

machinery 

10,000 12,000

Refund of Tax – 5,000

    ¤ßÁ¸® uPÁÀPÎ¼¸¢x ö\¯À£õkPÎ¼¸¢x 

QøhUPS® {vø¯U PnUQkP. 

 2016 (¹.) 2017 (¹.) 

C»õ£ |mh PnUS 25,000 40,000

ö£õxU Põ¨¦ 40,000 45,000

|Øö£¯º 7,000 4,000

öuõhUP ö\»ÂÚ[PÒ 5,000 3,000

C¯¢vμ® «uõÚ ÷u´©õÚ JxUS 10,000 12,000

Á¸©õÚÁ› v¸¨¤¯x – 5,000

Or 
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 (b) Jain Ltd made a net profit of Rs. 1,00,000 for the 
year ended 31st December 2016 after verifying the 
following information. 

 Rs.

Loss on sale of Machinery  10,000

Depreciation on Buildings 4,000

Depreciation on Machinery 5,000

Preliminary expenses written off 5,000

Provision for Taxation 10,000

Goodwill written off 5,000

Profit on sale of Buildings 8,000

   Calculate cash from operations. 

   RÌUPsh Â£μ[PøÍ B´Ä ö\´u ¤ß 31, i\®£º 
2016&zxhß •i¢u Bsiß öá°ß ¼ªöhm 
Dmi¯ {Pμ »õ£® ¹.1,00,000 

 ¹.

C¯¢vμ ÂØ£øÚ°À H¨£mh |mh® 10,000

Pmihzvß ÷©À ÷u´©õÚ® 4,000

C¯¢vμzvß «x ÷u´©õÚ® 5,000

öuõhUP {ø» ö\»Ä ÷£õUöPÊv¯x 5,000

Á› JxURk 10,000

|Øö£¯º ÷£õUöPÊv¯x 5,000

Pmih ÂØ£øÚ°ß ÷©À »õ£® 8,000

   ö\¯À£õmi¼¸¢x ö£ØÓ öμõUPzøu PnUQkP. 

15.  (a) Examine the various methods of evaluating capital 
budgeting proposals. 

     ‰»uÚ vmhªkuÀ £›¢xøμø¯ ©v¨¤k® £À÷ÁÖ 
•øÓPøÍ Bμõ´P.    

Or 

 (b) Briefly explain the methods of transfer pricing.  

    £›©õØÓ Âø»°ß •øÓPøÍ _¸UP©õP ÂÍUSP. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. A newly started company wishes to prepare cash budget 
from January. Prepare Cash Budget for the first six 
months from the following estimated revenue and 
expenses. 

    Overheads 

Month 
Rs. 

Total 
sales 
Rs. 

Materials 
Rs. 

Wages 
Rs. 

Production
Rs. 

Selling and 
Distribution 

Rs. 

January 20,000 20,000 4,000 3,200 800

February 22,000 14,000 4,400 3,300 900

March 28,000 14,000 4,600 3,400 900

April 36,000 22,000 4,600 3,500 1,000

May 30,000 20,000 4,000 3,200 900

June 40,000 25,000 5,000 3,600 1,200

 Cash balance on 1st January was Rs. 10,000. A new 
machinery is to be installed at Rs.20,000on credit, to be 
repaid by two equal installments in March and April. 
Sales commission @5% on total sales is to be paid within 
a month of following actual sales. Rs. 10,000 being the 
amount of 2nd call may be received in March. Share 
premium amounting toRs.2,000 is also obtainable with 
the 2nd call. 

 Period of credit allowed by suppliers – 2 months 

 Period of credit allowed to customers – 1 month 

 Delay in payment of overheads – 1 month 

 Delay in payment of wages – ½ month 

 Assume cash sales to be 50% of total sales. 
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 J¸ ¦vuõP Bμ®¤UP¨£mh {Ö©©õÚx áÚÁ› ©õuzvÀ 
C¸¢x öμõUP vmh¨£mi¯ø» u¯õ›UP Â¸®¤¯x.  
RÌUPsh Gvº£õºUP¨£k® Á¸Áõ´ ©ØÖ® 
ö\»ÂÚ[PÎ¼¸¢x •uÀ BÖ ©õuPõ»zvØS öμõUP 
vmh¨£mi¯ø» u¯õ›UP. 

    ÷©Øö\»ÄPÒ 

©õu® ö©õzu 
ÂØ£øÚ 

¹. 

‰»¨ö£õ¸ÒPÒ 
¹. 

T¼ 
¹. 

EØ£zv 
¹. 

ÂØ£øÚ 
©ØÖ® 

£Qº¢uÎ¨¦

áÚÁ› 20,000 20,000 4,000 3,200 800

¤¨μÁ› 22,000 14,000 4,400 3,300 900

©õºa 28,000 14,000 4,600 3,400 900

H¨μÀ 36,000 22,000 4,600 3,500 1,000

÷© 30,000 20,000 4,000 3,200 900

áúß 40,000 25,000 5,000 3,600 1,200

 áÚÁ› 1 AßÖ øP°¾ÒÍ öμõUP C¸¨¦ ¹.10,000, 
¹.20,000 ö£Ö©õÚ J¸ ¦v¯ C¯¢vμ® PhÝUS Áõ[Q 
{ÖÁ¨£mhx.  AzöuõøP¯õÚx ©õºa ©ØÖ® H¨μÀ 
©õu[PÎÀ C¸ \©uÁønPÍõP ö\¾zu ÷Ásk®.  
ö©õzu ÂØ£øÚ°À 5% ÂØ£øÚ PÈÄ PnUQh¨£mk 
ÂØ£øÚ |h¢u Akzu ©õuzvÀ ö\¾zu ÷Ásk®.  
¹.10,000 ö£Ö©õÚ Cμshõ® AøÇ¨¦ öuõøP ©õºa 
©õuzvÀ ö£Ó ÷Ásk®.  C¢u Cμshõ® AøÇ¨¦ 
öuõøP÷¯õk ¹.2,000 ö£Ö©õÚ £[S •øÚ©•® ö£Ó 
÷Ásk®. 

 \μUPÎz÷uõμõÀ ÁÇ[P¨£mh Phß Põ»® – 2 ©õu[PÒ 

 ÁõiUøP¯õÍ¸US ÁÇ[P¨£mh Phß Põ»® – 1 ©õu® 

 ÷©Øö\»ÄPøÍ ö\¾zxÁuØPõÚ Põ»® – 1 ©õu® PÈzx 

 T¼ø¯ ö\¾zxÁuØPõÚ Põ»® – ½ ©õu® PÈzx 

 ö©õzu ÂØ£øÚ°À 50% öμõUP ÂØ£øÚ GÚ öPõÒP. 
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17. From the following particulars relating to three materials 

X, Y and Z used in a product compute material variances.  

 Standard   Actual 

 Qty. 

Kg. 

Unit 

Price 

Rs. 

Total 

Rs. 

 Qty.

Kg. 

Unit

Price

Rs. 

Total

Rs. 

X 20 2 40  10 3 30 

Y 40 3 120  20 6 120 

Z 40 6 240  30 5 150 

 100  400  60  300 

 J¸ ö£õ¸ÎÀ £¯ß£kzuUTi¯ X,Y ©ØÖ® Z BQ¯ 

‰ßÖ ‰»¨ ö£õ¸mPÎß uPÁÀPÒ ¤ßÁ¸©õÖ: 

Av¼¸¢x ‰»¨ö£õ¸Ò ©õÖ£õmøh PnUQkP. 

 {ø»¯õÚx   Esø©¯õÚx 

 AÍÄ 

(Q.Q) 

A»S 

Âø» 

(¹.) 

ö©õzu® 

(¹.) 

 AÍÄ 

(Q.Q)

A»S 

Âø» 

(¹.) 

ö©õzu® 

(¹.) 

X 20 2 40  10 3 30 

Y 40 3 120  20 6 120 

Z 40 6 240  30 5 150 

 100  400  60  300 



D–4241 
  11

18. From the following particulars of X Company Calculate:  

 (a) Sales  

 (b) Debtors  

 (c) Closing Stock  

 (d)  Creditors 

 

Debtors velocity 3 months  Creditors velocity 2 months

Stock turnover ratio 8 times Gross profit ratio 25% 

 Gross profit for the year was Rs.4,00,000. Closing stock 

was Rs. 10,000 more than the opening stock. 

 ¤ßÁ¸® uPÁÀPÍõÚx X {Ö©zvØS›¯x.  

CÁØÔ¼¸¢x ¤ßÁ¸ÁÚÁØøÓ PnUQkP.  

 (A) ÂØ£øÚ  

 (B) PhÚõÎPÒ  

 (C)  CÖva \μUQ¸¨¦  

 (D)  PhÜ¢÷uõºPÒ 

PhÚõÎPÎß 

_ÇØ] 

3 ©õu[PÒ PhÜ¢÷uõºPÎß 

_ÇØ] 

2 ©õu[PÒ 

\μUQ¸¨¦ _ÇØ] 

ÂQu® 

8 uhøÁPÒ ö©õzu C»õ£ 

ÂQu® 

25% 

 AÆÁõsiÀ EÒÍö©õzu C»õ£® ¹.4,00,000.  CÖva 

\μUQ¸¨£õÚx öuõhUP \μUQ¸¨ø£Âh ¹.10,000 

AvP©õS®. 
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19. State the differences between funds flow statement and 

cash flow statement. 

 {v Kmh AÔUøPUS®, öμõUP Kmh AÔUøPUS® 

÷ÁÖ£õmøhz u¸P. 

20. A project is acceptable unless the yield is 10%. Cash 

inflows of the project along with cash outflows are given 

below: 

Year Outflows Inflows Present value

factor @10% 

0 1,50,000 – 1,000 

1 30,000 20,000 0.909 

2 – 30,000 0.826 

3 – 60,000 0.751 

4 – 80,000 0.683 

5 – 30,000 0.621 

  The salvage value at the end of the 5th year is Rs.40,000. 

Calculate the net present value. 
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 J¸ vmhzv¼¸¢x QøhUP¨ö£Ö® Á¸©õÚ® 10%. 

Czvmhzvß ‰»® QøhUP¨ö£Ö® öμõUP EÒÏk 

¤ßÁ¸©õÖ:  

Bsk öÁÎ±k EÒÏk |h¨¦ ©v¨¦ Põμo @10%

0 1,50,000 – 1,000 

1 30,000 20,000 0.909 

2 – 30,000 0.826 

3 – 60,000 0.751 

4 – 80,000 0.683 

5 – 30,000 0.621 

 I¢uõ® Bsk CÖv°À QøhUP¨ö£Ö® CÖv ©v¨¦ 

¹.40,000.  {Pμ |h¨¦ ©v¨ø£U PõsP. 

 

  

———————— 
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INTERNATIONAL MARKETING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define the term ‘International Marketing’. 
 £ßÚõmk \¢øu°køP GÝ® £uzøu Áøμ¯ÖUP. 

2. Expand:  

 (a) GATT  

 (b)  WTO 
 Â›ÁõUSP: 

 (A) GATT 

 (B) WTO  

3. What is Marketing Research? 
 \¢øu°køP Bμõ´a] GßÓõÀ GßÚ? 

4. Give the meaning of Marketing Mix. 
 \¢øu°køP P»øÁ Gß£uß ö£õ¸Ò u¸P. 

5. What do you mean by Dumping? 
 Âø»ø¯vozuÀ £ØÔ }Âº AÔÁx GßÚ? 

Sub. Code 
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6. Give the meaning of Promotion Mix. 

 ÷©®£õmk P»øÁ Gß£uß ö£õ¸Ò u¸P. 

7. What is Bill of lading? 

 P¨£À \μUS Pmhn® GßÓõÀ GßÚ? 

8. What do you mean by deemed exports? 

 HØÖ©v¯õP P¸u¨£kuÀ £ØÔ }Âº AÔÁx GßÚ? 

9. What is arbitrage in foreign exchange markets? 

 A¢{¯a ö\»Áõo \¢øu°À |kÁº Gß£Áº ¯õº? 

10. Expand :  

 (a) IMF  

 (b) IBRD. 

 Â›ÁõUSP: 

 (A) IMF 

 (B) IBRD 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a)  What are the principles of international marketing? 

  £ßÚõmk \¢øu°¯¼ß öPõÒøPPÒ ¯õøÁ? 

Or 

 (b) Distinguish between Tariff and Non-Tariff Barriers. 

  Pmhn® ©ØÖ® PmhnªÀ»õu uøhPøÍ 
÷ÁÖ£kzxP. 
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12. (a) Discuss the various motives of entering foreign 
markets. 

  öÁÎ|õmk \¢øu°À ~øÇÁuØPõÚ £À÷ÁÖ 
÷|õUP[PøÍ ÂÁõvUP. 

Or 

 (b) What are the advantages of market segmentation?  

  \¢øu  £S¨¤ß |ßø©PÒ ¯õøÁ? 

13. (a) Explicate the elements of distribution mix in global 
marketing. 

  E»PÍõÂ¯ \¢øu°køP°À £QºÄ P»ø©°ß 
TÖPøÍ ÂÍUSP. 

Or 

 (b) Distinguish between advertising and publicity. 

  ÂÍ®£μ® ©ØÖ® ¤μ]zuzøu ÷ÁÖ£kzxP. 

14. (a) Trace out the significance of export documentation. 

  HØÖ©v BÁn[PÎß •UQ¯zxÁzøu 
PshÔ¯Ä®. 

Or 

 (b) What are the factors affecting international pricing 
policy? 

\ºÁ÷u\ Âø»U öPõÒøPø¯ £õvUS® PõμoPÒ 
¯õøÁ? 

15. (a) List the roles played by Gems and Jewellery export 
promotion council. 

  CμzvÚ[PÒ ©ØÖ® |øP HØÖ©v FUSÂ¨¦ \ø£ 
BØÔ¯ £[QøÚ £mi¯¼kP. 

Or 
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 (b) Explain the concept of forward exchange rates. 

  •ß÷ÚõUQ¯ ©õØÖÂQu[PÒ GÝ® P¸zvøÚ 
ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Distinguish between domestic marketing and global 
marketing. 

 EÒ|õmk \¢øu°køP ©ØÖ® E»PÍõÂ¯ 
\¢øu°køPø¯ ÷ÁÖ£kzxP. 

17. Explain the various steps involved in new product 
development. 

 ¦v¯ ö£õ¸øÍ E¸ÁõUSÁvÀ EÒÍ £À÷ÁÖ 
£i{ø»PøÍ ÂÍUSP. 

18. Explain the role and importance of publicity for the 
promotion. 

 ÷©®£õmiØUPõÚ ¤μ]zuzvß •UQ¯zxÁ® ©ØÖ® 
£[QøÚ ÂÍUSP. 

19. Describe the various stages involved in the processing of 
an export order. 

 J¸ HØÖ©v Bøn°ß ö\¯»õUPzvÀ EÒÍ £À÷ÁÖ 
{ø»PøÍ ÂÁ›UP. 

20. Discuss the various institutional supports available to 
promote exports. 

 HØÖ©vø¯ FUSÂUP QøhUPTi¯ £À÷ÁÖ {ÖÁÚ 
BuμÄPøÍ £ØÔ ÂÁõvUP. 

—————————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is residential property? 

 Si°¸¨¦ ö\õzx GßÓõÀ GßÚ? 

2. Define Evaluation. 

 ©v¨¥møh Áøμ¯ÖUP. 

3. What is market analysis? 

 \¢øu £S¨£õ´Ä GßÓõÀ GßÚ? 

4. Define Corporate Property. 

 {Ö© ö\õzøu Áøμ¯ÖUP. 

5. What is Performance Evaluation? 

 ö\¯ÀvÓß ©v¨¥k GßÓõÀ GßÚ? 

6. Write a short note on “Retail property”.  

 “]À»øÓ ö\õzx” £ØÔ J¸ ]Ö SÔ¨ø£ GÊxP. 

Sub. Code 
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7. What are financial reports? 

 {v AÔUøPPÒ Gß£Ú ¯õøÁ? 

8. State about expense items. 

 ö\»Ä CÚ[PøÍ £ØÔ TÖP. 

9. What are brochures? 

 ¤μ_μ[PÒ Gß£Ú ¯õøÁ? 

10. Write a short note on “Newspaper”. 

 “ö\´vzuõÒ” £ØÔ ]Ö SÔ¨ø£ GÊxP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) State the duties of property manager. 

  ö\õzx ÷©»õÍ›ß Phø©PøÍU SÔ¨¤hÄ®. 

Or 

 (b) List out the necessities when buying a property. 

  J¸ ö\õzøu Áõ[S®÷£õx ÷uøÁ¯õÚÁØøÓ 
£mi¯¼kP. 

12. (a) Indicate the concept of property management 
planning. 

  ö\õzx ÷©»õsø© vmhªhÀ GÝ® P¸zøu 
SÔ¨¤hÄ®. 

Or 

 (b) Write a short note on catchment survey. 

  }º¨¤i¨¦ PnUöPk¨¦ £ØÔ ]Ö SÔ¨ø£ GÊxP. 
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13. (a) State the importance of retail property 
management. 

  ]À»øÓ ö\õzx ÷©»õsø©°ß •UQ¯zxÁzøu 
SÔ¨¤hÄ®. 

Or 

 (b) Briefly explain property life cycle. 

  ö\õzx ÁõÌUøP _ÇØ]ø¯ _¸UP©õP ÂÍUSP. 

14. (a) Mention the financial aspects of retail property. 

  ]À»øÓ ö\õzvß {v A®\[PøÍU SÔ¨¤hÄ®. 

Or 

 (b) What are the determinants of property value? 

  ö\õzx ©v¨ø£ {ºn°US® PõμoPÒ ¯õøÁ? 

15. (a) State the importance of effective marketing of retail 
property. 

  ]À»øÓ ö\õzxUPÐUPõÚ £¯ÝÒÍ 
\¢øu¨£kzxu¼ß •UQ¯zxÁzøuU SÔ¨¤hÄ®. 

Or 

 (b) Indicate the need of retail property. 

  ]À»øÓ ö\õzvß ÷uøÁø¯U SÔUPÄ®. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the different types of real property. 

 Esø©¯õÚ ö\õzxPÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

17. ‘‘Property as a Part of Competitive Strategy” — 
Elucidate. 

 “ö\õzuõÚx ÷£õmi Ezv°ß J¸ £Sv” & öuÎÄ£kzxP. 
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18. Explain the role of property in business. 

 ÁoP ö\õzxUPÐUPõÚ £[øP ÂÍUSP. 

19. Enumerate the methods of property valuation. 

 ö\õzx ©v¨¥miß •øÓPøÍU PnUQkP. 

20. Describe the different methods of marketing retail 
property. 

 ]À»øÓa ö\õzøu \¢øu¨£kzxÁuØPõÚ öÁÆ÷ÁÖ 
•øÓPøÍ ÂÁ›UP. 

 

—————————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define Costing. 

 AhUPÂø»°¯ø» Áøμ¯ÖUP. 

2. Write a note on ABC analysis.  

 ABC £S¨£õ´Ä £ØÔ SÔ¨¦ GÊxP. 

3. What is Merit Rating? 

 uSv ©v¨¥k GßÓõÀ GßÚ? 

4. What is meant by allocation of overheads? 

 ÷©Øö\»ÄPÒ JxURk £ØÔ AÔÁx GßÚ? 

5. What is Job Costing? 

 £o AhUPÂø»°¯À GßÓõÀ GßÚ? 

6. What is Unit Costing? 

 A»S AhUPÂø»°¯À GßÓõÀ GßÚ? 
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7. What is meant by abnormal gain? 

 A\õuõμn Buõ¯® £ØÔ AÔÁx GßÚ? 

8. Mention any two features of operating costing. 

 C¯UP AhUPÂø»°¯¼ß H÷uÝ® Cμsk C¯À¦PøÍ 
SÔ¨¤kP. 

9. Define the term standard costing. 

 uμ AhUPÂø»°¯À GÝ® £uzøu Áøμ¯ÖUP. 

10. State any two techniques of cost control. 

 ö\»ÄU Pmk¨£kzu¼ß H÷uÝ® Cμsk ~m£[PøÍU 
TÖP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) What is cost accounting? Explain its objectives. 

  AhUPÂø»U PnUQ¯À GßÓõÀ GßÚ? Auß 
÷|õUP[PøÍU ÂÍUSP. 

Or 

 (b) Following data related to material A. Find Reorder    
Level, Minimum Level. Maximum Level and 
Average Stock Level. 

  Normal usage – 450 units per week 

  Maximum usage – 750 units per week  

  Minimum usage – 300 units per week  

  Reorder Quantity – 3,200 units  

  Reorder period – 3 to 5 weeks. 
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  ¤ßÁ¸® uPÁÀPÒ ‰»¨ö£õ¸Ò A öuõhº£õÚøÁ. 
©ÖBøn {ø», SøÓ¢u£m\ {ø», AvP£m\ {ø» 
©ØÖ® \μõ\› \μUS {ø» BQ¯ÁØøÓU PshÔP. 

  \õuõμn £¯ß£õk – ÁõμzvØS 450 A»SPÒ 

  AvP£m\ £¯ß£õk – ÁõμzvØS 750 A»SPÒ 

  SøÓ¢u£m\ £¯ß£õk – ÁõμzvØS 300 A»SPÒ 

  ©ÖBøn AÍÄ – 3,200 A»SPÒ 

  ©ÖBøn Põ»® – 3 •uÀ 5 Áõμ[PÒ  

12. (a) With the help of the following information you are 
required to ascertain the wages paid to workers of 
Mr. X and Mr. Y under Taylors differential piece 
rate system. 

  Standard time allowed — 40 units per hour 

  Simple time rate was Rs. 4 per hour  

  Differential rate to be applied: 

  75% of piece rate when below standard. 125% of 
piece rate when above the standard the worker have 
produced in a day of 8 hours as follows: Mr. X — 240 
units and Mr. Y — 400 units. 

   ¤ßÁ¸® Â£μ[PÎ¼¸¢x Mr. X ©ØÖ® Mr. Y 
BQ÷¯õ¸US øh»›ß ©õÖ£k® ÷Áø»ÃuU 
T¼•øÓ°ß £i öPõkUP¨£h ÷Ási¯ T¼ø¯U 
PnUQkP. 

Áøμ¯ÖUP¨£mh Põ»® – 1 ©oUS 40 A»SPÒ 

\õuõμn ÷|μÂuU T¼ –  ¹. 4 ©oUS 

÷ÁÖ£k® ÷Áø»U T¼ ÷Áø» ÃuU T¼°À 75% 
Áøμ¯ÖUP¨£mh EØ£zvUS Em£mh {ø»°À 
÷Áø»Ãu T¼°À 125% Áøμ¯ÖUP¨£mh 
EØ£zvUS «Ô¯ {ø»°À, J¸ |õÎÀ 8 ©o 
÷|μzvÀ Mr. X — 240 A»SPøÍ²® Mr. Y — 400 
A»SPøÍ²® EØ£zv ö\´xÒÍÚº. 

Or 
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 (b) Briefly explain the classification of overhead on the 
basis of function. 

   ö\¯À£õkPÎß Ai¨£øh°À ÷©Øö\»ÄPÎß 
ÁøP¨£õkPøÍ _¸UP©õP ÂÍUSP. 

13.  (a) State the features of job costing. 

   £o AhUPÂ¯¼ß C¯À¦PøÍz u¸P. 

Or 

 (b) The following details relate to process ‘A’. You are 
required to ascertain the process cost to be 
transferred to process ‘B’ 

 Rs. 

Direct Materials (1000 units) 12,000

Direct Wages 8,000 

Direct Expenses 5,000 

Overheads 11,000

  Output 1000 units as there was no loss of units. 
Prepare process ‘A’ account. 

¤ßÁ¸® ÂÁμ[PÒ £i{ø» A öuõhº£õÚøÁ 

£i{ø» B US ©õØÓ¨£h ÷Ási¯ £i{ø»a 
ö\»øÁ }Âº PshÔP. 

 ¹. 

÷|μi Pa\õ¨ö£õ¸mPÒ (1000 A»SPÒ) 12,000

÷|μiUT¼ 8,000 

÷|μia ö\»ÄPÒ 5,000 

÷©Øö\»ÄPÒ 11,000

  öÁÎ±k – 1000 A»SPÒ. A»QÀ CÇ¨¦ 

HØ£hÂÀø». £i{ø» A PnUøP u¯õº ö\´P. 
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14.  (a) From the following information, calculate 
kilometers and total passenger kilometers. 

Number of buses 4 

Days operated in a month 30 

Trips made by each bus 4 

Distance of route 30 Km (one way) 

Capacity of bus 60 Passengers 

Normal passengers travelling 80% of the capacity

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x Q÷»õ «mhºPÒ ©ØÖ® 
ö©õzu £¯oPÒ Q÷»õ «mhºPøÍU PnUQkP. 

÷£¸¢xPÎß GsoUøP 4 

J¸ ©õuzvÀ ö\¯À£k® |õmPÒ 30 

JÆöÁõ¸ ÷£¸¢v¾® ÷©ØöPõÒÍ¨£k® £¯n[PÒ 4 

£õøu°ß yμ® 30 Q« (J¸ ÁÈ)

÷£¸¢vß öPõÒÍÍÄ 60 £¯oPÒ 

  \õuõμn©õP 80% öPõÒÍÍÄ £¯oPÒ £¯n® 
ö\´QÓõºPÒ 

Or 

 (b) Explain the methods of determining economic batch 
quantity. 

   ]UPÚ öuõSv AÍøÁ wº©õÛUS® •øÓPøÍ 
ÂÍUSP. 

15. (a) Calculate (i) Labour Cost Variance, (ii) Labour Rate 
Variance and (iii) Labour Efficiency Variance from 
the following: 

  Standard hours 20; Standard rate Rs. 5 per hour; 

  Actual hours 20,500; Actual production 1,000 units; 
Actual rate Rs. 4.80 per hour. 
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   RÌUPsh uPÁÀPÎ¼¸¢x (i) EøÇ¨¦ AhUP 
©õÖ£õk  (ii) EøÇ¨¦ Ãu ©õÖ£õk ©ØÖ®  
(iii) EøÇ¨¦ vÓø© ©õÖ£õk BQ¯ÁØøÓ 
PnUQhÄ®.  

   uμ ÷|μ® 20, uμ Ãu® ¹. 5 J¸ ©oUS, Esø© 
÷|μ® 20,500, Esø©¯õÚ EØ£zv 1,000 A»SPÒ, 
Esø© Ãu® J¸ ©oUS ¹. 4.80                    

Or 

 (b) Distinction between cost control and cost reduction. 

  ö\»ÄU Pmk¨£õk ©ØÖ® ö\»øÁU SøÓzuø» 
÷ÁÖ£kzxP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. The following details have been obtained from the cost 
records of Raja Sekar Ltd. 

Particulars Rs. 

Raw materials 01.12.2010 75,000

Work in progress 01.12.2010 28,000

Finished goods 01.12 .2010 54,000

Raw materials 31.12.2010 91,500

Work in progress 31.12.2010 35,000

Finished goods 31.12.2010 31,000

Direct wages 52,500

Indirect wages 2,750

Sales 2,11,000

Purchases of raw materials 66,000

Factory rent 15,000

Depreciation of plant and machinery 3,500
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Particulars Rs. 

Expenses on purchases 1,500

Carriage outwards 2,500

Advertising 3,500

Office rent and taxes 2,500

Traveller’s wages and commission 6,500

 Prepare a cost sheet. 

 μõá÷\Pº ¼ªöhmiÀ AhUP¨ £vÄPÎÀ C¸¢x RÌPsh 
uPÁÀPÒ ö£Ó¨£kQßÓx. 

Â£μ[PÒ ¹. 

Pa\õ¨ ö£õ¸mPÒ 01.12.2010 75,000

£o°À ÁÍºa] 01.12.2010 28,000

•iÄØÓ ö£õ¸mPÒ 01.12 .2010 54,000

Pa\õ¨ ö£õ¸mPÒ 31.12.2010 91,500

£o°À ÁÍºa] 31.12.2010 35,000

•iÄØÓ ö£õ¸mPÒ 31.12.2010 31,000

÷|μiU T¼ 52,500
©øÓ•PU T¼ 2,750
ÂØ£øÚ 2,11,000
Pa\õ¨ ö£õ¸mPÒ Áõ[Q¯x 66,000
öuõÈØ\õø» ÁõhøP 15,000
C¯¢vμzvß «x ÷u´©õÚ® 3,500
öPõÒ•uÀ ö\»ÄPÒ 1,500
öÁÎHØÔa ö\À ö\»Ä 2,500
ÂÍ®£μ® 3,500
A¾Á»P ÁõhøP ©ØÖ® Á›PÒ 2,500
ÂØ£øÚ¯õÍº T¼ ©ØÖ® PÈÄ 6,500

 AhUPÂø»z uõÒ u¯õº ö\´P. 
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17. From the following data given below, calculate the 

department overhead rates for each of the production 

department : 

Particulars A B C D E 

Direct wages (Rs.) 2,000 3,000 4,000 1,000 2,000

Raw Materials (Rs.) 1,000 2,000 2,000 1,500 1,500

Employees (Nos.) 100 150 150 50 50 

Electricity (Kilo watt) 4,000 3,000 2,000 1,000 1,000

Lighting points (Nos.) 10 16 4 6 4 

Asset value (Rs) 60,000 40,000 30,000 10,000 10,000

Area occupied (Sq.m.) 150 250 50 50 50 

 

The Expenses Were : Rs. 

Motive power 550 

Electricity charges 100 

Warehouse charges 4,000 

Labour welfare 1,500 

Depreciation 15,000

Maintenance 3,000 

General overhead 6,000 

Rent and rates 275 

 D and E service departments. Apportion the expenses of 

Department D in proportion to direct wages and that 

department E in the ratio of 5:3:2 to department A, B and 

C respectively. 
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AÎUP¨£mh ¤ßÁ¸® Â£μ[PÎ¼¸¢x JÆöÁõ¸ 
xøÓ°ß ö£õx ö\»Ä «m¦ Ãuzøu PnUQhÄ®. 

ÂÁμ[PÒ A B C D E 

÷|μiUT¼ (¹.) 2,000 3,000 4,000 1,000 2,000

‰»¨ö£õ¸Ò (¹.) 1,000 2,000 2,000 1,500 1,500

£o¯õÍº GsoUøP 100 150 150 50 50 

ªß\õuÚ® (Q÷»õ Áõm) 4,000 3,000 2,000 1,000 1,000

ÂÍUSPÒ GsoUøP 10 16 4 6 4 

ö\õzvß ©v¨¦ (¹.) 60,000 40,000 30,000 10,000 10,000

uøμ£μ¨£ÍÄ (\xμ«mhº) 150 250 50 50 50 

  

ö£õxa ö\»ÄPÒ ¤ßÁ¸©õÖ : ¹. 

C¯US \Uv 550 

ªß Pmhn® 100 

Qh[Sa ö\»ÄPÒ 4,000 

£o¯õÍºPÐUS AÎUP¨£mh |ßø©PÒ 1,500 

÷u´©õÚ® 15,000

£μõ©›¨¦ 3,000 

ö£õxa ö\»ÄPÒ 6,000 

ÁõhøP Á›PÒ 275 

 D ©ØÖ® E BQ¯ C¸ xøÓPÐ® £ozxøÓPÍõS®.  
D xøÓ°ß ö\»ÄPÒ ÷|μi T¼ ÂQuzv¾® E xøÓ°ß 
ö\»ÄPøÍ •øÓ÷¯ A, B ©ØÖ® C xøÓPÐUS 5 : 3 : 2 
ÂQuzv¾® ¤›UPÄ®. 

18. The product of a manufacturing concern passes through 
two processes A and B and then moves to finished stock. 
It is ascertained that in each process normally 5% of the 
total weight is lost and 10% is scrap which from processes 
A and B realizes Rs. 80 per ton and Rs. 200 per ton 
respectively. 
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 The following are the figures relating to both the 
processes: 

Particulars Process A Process B

Materials in tons 1,000 70

Cost of materials per ton in Rs. 125 200

Wages in Rs. 28,000 10,000

Manufacturing expenses in Rs. 8,000 5,250

Output in tons 830 780

 Prepare Process Cost Accounts showing cost per ton of 
each process. There was no stock or work-in-process in 
any process. 

 J¸ EØ£zv {ÖÁÚzvß EØ£zv¨ ö£õ¸Ò A ©ØÖ® B 
BQ¯ C¸ £i•øÓPÒ ÁÈ¯õPU Ph¢x •iÁøh¢u 
\μUSUS ©õØÓ¨£kQÓx. JÆöÁõ¸ £i•øÓ°¾® ö©õzu 
{øÓ°À 5% C¯À¦ |mh® ©ØÖ® 10% ¤]Ö BS®. 

£i•øÓ A&ß ¤]Ö hß JßÖUS ¹. 80 GßÓ Âø»°¾® 

£i•øÓ B&ß ¤]Ö hß JßÖUS ¹. 200 GßÓ Âø»US® 
ÂØP¨£kQßÓÚ. ¤ßÁ¸ÁÚ C¸ £i•øÓ²hÝ® 
öuõhº¦øh¯uõS®.  

Â£μ[PÒ £i•øÓ A £i•øÓ B

Pa\õ¨ ö£õ¸mPÒ hßPÎÀ 1,000 70

ö£õ¸mPÎß J¸ hßÝUS Âø» (¹.) 125 200

T¼ (¹.) 28,000 10,000

EØ£zv ö\»ÄPÒ (¹.) 8,000 5,250

EØ£zv hßPÎÀ  830 780

 JÆöÁõ¸ £i•øÓ°¾® J¸ hßÝUS ö\»ÄU Põmk® 
£i•øÓU PnUSPøÍz u¯õ›UP. G¢u¨ £i•øÓ°¾® 
Pa\õ¨ ö£õ¸Ò ©ØÖ® •iÄÓõ¨ ö£õ¸Ò GxÄ® 
\μUQ¸¨¤À CÀø». 
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19. Compute cost per running kilometer from the following 
data of a truck. Estimated life of vehicle 1,00,000 kms. 
Annual running 15,000 kms. 

Particulars Rs. 

Cost of vehicle 25,000.00

Road license (Annual) 750.00

Insurance (Annual) 700.00

Garage rent (Annual) 900.00

Supervision & Salaries (Annual) 2,700.00

Drivers wages per hour 3.00

Cost of fuel per litre 3.00

Repairs and maintenance per km. 1.75

Tyre allocation per km. 0.90

 Charge interest at 5% per annum on cost of vehicle. The 
vehicle runs 20 kms per hour on an average and one litre 
of fuel gives 20 km. 

 J¸ ÁõPÚzvß ¤ßÁ¸® uμÄPÎ¼¸¢x C¯[S® Q÷»õ 
«mh¸UPõÚ ö\»øÁU PnUQkP. ÁõPÚzvß 
©v¨¤h¨£mh B²mPõ»® 1,00,000 Q.«. Bsk Kmh® 
15,000 Q«. 

ÂÁμ[PÒ ¹. 

ÁõPÚzvß AhUPÂø» 25,000.00

\õø» E›©® 750.00

Põ¨¥k (BskUS) 700.00

÷P÷μä ÁõhøP (BskUS) 900.00

÷©Ø£õºøÁ \®£Í® (BskUS) 2,700.00

Kmk|ºPÎß J¸ ©o ÷|μUT¼ 3.00

J¸ ¼mhº G›ö£õ¸Îß Âø» 3.00

£Êx ©ØÖ® £μõ©›¨¦ J¸ Q«US 1.75

\UPμzxUPõÚ JxURk J¸ Q«US 0.90
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 ÁõPÚzvß AhUPÂø»°À BskUS 5% Ámi 
Á`¼UPÄ®. C¢u ÁõPÚ® \μõ\›¯õP J¸ ©o ÷|μzvØS 
20 Q« ÷ÁPzvÀ KkQÓx ©ØÖ® J¸ ¼mhº G›ö£õ¸Ò 
20 Q« öPõkUQßÓx. 

20. Calculate the Material Cost Variance, Material Price 
Variance and Material Usage Variance from the following 
information : 

Material Standard Actual 

 Quantity Rate Amount (Rs.) Quantity Rate Amount (Rs.)

A 4 100 400 2 350 700 

B 2 200 400 1 200 200 

C 2 400 800 3 300 900 

 8  1,600 6  1,800 

R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÎ¼¸¢x Pa\õ¨ö£õ¸Ò 
AhUP ©õÖ£õk, Pa\õ¨ ö£õ¸Ò Âø» ©õÖ£õk ©ØÖ® 
Pa\õ¨ ö£õ¸Ò AÍÄ ©õÖ£õk BQ¯ÁØøÓU 
PnUQhÄ®. 

Pa\õ¨ö£õ¸Ò uμ® Esø© 

 AÍÄ Ãu® öuõøP (¹.) AÍÄ Ãu® öuõøP (¹.)

A 4 100 400 2 350 700 

B 2 200 400 1 200 200 

C 2 400 800 3 300 900 

 8  1,600 6  1,800 

 

  

  

 

 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(L.E.)/B.Com. (CA)/ 
B.Com. (CA)(L.E) DEGREE EXAMINATION, MAY 2024. 

Fifth Semester 

PROJECT MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define the term Project. 

 vmh® GÝ® £uzøu Áøμ¯ÖUP. 

2. What is meant by team work? 

 SÊ¨ £o £ØÔ AÔÁx GßÚ? 

3. What is change management? 

 ©õØÓ ÷©»õsø© GßÓõÀ GßÚ? 

4. Expand:  

 (a) PERT  

 (b) CPM 

 Â›ÁõUSP:  

 (A) PERT 

 (B) CPM 

Sub. Code 
10254/12554/
12354/12854
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5. Mention any two benefits of risk management. 

 Chº ÷©»õsø©°ß H÷uÝ® Cμsk |ßø©PøÍU 
SÔ¨¤kP. 

6. What you mean by value engineering? 

 ©v¨¦ ö£õÔ°¯À £ØÔ }Âº AÔÁx GßÚ? 

7. What is contract management? 

 J¨£¢u ÷©»õsø© GßÓõÀ GßÚ? 

8. What is meant by project execution? 

 vmhzøu {øÓ÷ÁØÓÀ GßÓõÀ GßÚ? 

9. What is meant by project follow up? 

 vmh ¤ßöuõhºuÀ £ØÔ AÔÁx GßÚ? 

10. Give the meaning of project termination. 

 vmh •iÂß ö£õ¸øÍ u¸P. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Bring out the key responsibilities of project 
manager. 

  vmh ÷©»õÍ›ß •UQ¯ ö£õÖ¨¦UPøÍ 
öÁÎUöPõnºP. 

Or 

 (b) List the outline of stepwise project planning. 

  £i¨£i¯õÚ vmhz vmhªku¼ß öÁÎ¨¦Ózøu 
£mi¯¼kP.  
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12. (a) What are the responsibilities of project leader?  

  vmh uø»Á›ß ö£õÖ¨¦PÒ ¯õøÁ? 

Or 

 (b) Write about the basic rules to follow in developing 
project networks. 

  vmh Áø»¯ø©¨¤øÚ E¸ÁõUS®÷£õx ¤ß£ØÓ 
÷Ási¯ Ai¨£øh ÂvPøÍ¨ £ØÔ GÊxP. 

13. (a) Explain about value engineering. 

  ©v¨¦ ö£õÔ°¯ø» £ØÔ ÂÍUSP. 

Or 

 (b) Write about the essential features of PMIS. 

  PMIS&ß Azv¯õÁ]¯ C¯À¦PøÍ £ØÔ GÊxP. 

14. (a) Explain the various components of contract 
management. 

  J¨£¢u ÷©»õsø©°ß £À÷ÁÖ TÖPøÍ ÂÍUSP. 

Or 

 (b) Give the objectives of project execution. 

  vmhzøu {øÓ÷ÁØÓ¼ß ÷|õUP[PøÍz u¸P. 

15. (a) State the purpose of project closure analysis report. 

  vmh ‰hÀ £S¨£õ´Ä AÔUøP°ß ÷|õUPzøuU 
SÔ¨¤hÄ®. 

Or 

 (b) List out the most common software used in project 
management. 

  vmh ÷©»õsø©°À £¯ß£kzu¨£k® ªPÄ® 
ö£õxÁõÚ ö©ßö£õ¸øÍ £mi¯¼kP.  
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the life cycle of a project management in detail. 

 vmh ÷©»õsø©°ß B²Ò _ÇØ]ø¯ Â›ÁõP ÂÁõvUP. 

17. Bring out the advantages and disadvantages of CPM 
model. 

 CPM ©õv›°ß |ßø©PÒ ©ØÖ® wø©PøÍ öÁÎU 
öPõnºP.  

18. Explain the different categories of risk management. 

 Chº ÷©»õsø©°ß öÁÆ÷ÁÖ ÁøPPøÍ ÂÍUSP. 

19. Explain the challenges of performance measurement. 

 ö\¯ÀvÓß AÍÃmiß \ÁõÀPøÍ ÂÍUSP. 

20. Describe the different types of project management 
software in detail. 

 vmh ÷©»õsø© ö©ßö£õ¸Îß öÁÆ÷ÁÖ ÁøPPøÍ 
Â›ÁõP ÂÍUSP. 

_____________ 
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DISTANCE EDUCATION 

B.Com./B.Com. (LE) DEGREE EXAMINATION, MAY 2024. 

Sixth Semester 

MARKETING RESEARCH 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is Research? 

 Bμõ´a] GßÓõÀ GßÚ? 

2. Write a short note on sample design. 

 ©õv› ÁiÁø©¨ø£ £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

3. What is questionnaire building? 

 ÷PÒÂzuõÒ E¸ÁõUP® GßÓõÀ GßÚ? 

4. Trace the meaning of pilot study. 

 ø£»m ÷\õuøÚ°ß ö£õ¸øÍ u¸P. 

5. How do you determining sample size? 

 ©õv› AÍÂøÚ }Âº GÆÁõÖ wº©õÛ¨£õ´? 

6. What do you understand by hypothesis? 

 AÝ©õÚ[PÒ £ØÔ }Âº AÔÁx GßÚ? 

7. Write a note on Data entry. 

 uμÄ EÒÏk £ØÔ J¸ SÔ¨¦ ÁøμP.  

Sub. Code 
10261/12561
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8. What is multivariate analysis? 

 £ß•P £S¨£õ´Ä GßÓõÀGßÚ? 

9. Write a note on Data Interpretation. 

 uμÄ ÂÍUP® £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

10. State the meaning of Data mining. 

 uμÄ ö\¯»õUPzvß ö£õ¸øÍU TÖP. 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the characteristics of a research? 

  J¸ Bμõ´a]°ß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

Or 

 (b) State the components of research proposal. 

  Bμõ´a] •ßö©õÈÂß TÖPøÍU SÔ¨¤kP. 

12. (a) What are the advantages of secondary data? 

  Cμshõ® {ø» uμÄPÎß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Explain the primary scale of measurement. 

  AÍÃkPÎß •ußø© AÍøÁ ÂÍUSP. 

13. (a) Enumerate the process of sampling design. 

  ©õv› ÁiÁø©¨¤ß ö\¯À•øÓø¯ £mi¯¼kP. 

Or 

 (b) Distinguish between parametric and nonparametric 
tests. 

  AÍÄ¸ ©ØÖ® AÍÄ¸ AÀ»õu ÷\õuøÚPøÍ 
÷ÁÖ¨£kzxP. 



D–4246

 

  3

14. (a) What are the sources of primary data? 

  •ußø© uμÄPÎß Buõμ[PÒ ¯õøÁ? 

Or 

 (b) State the differences between Univariate and 
Bivariate analysis. 

  J÷μ ©õv›¯õÚ ©ØÖ® C¸÷ÁÖ £S¨£õ´ÄPÐUS® 
Cøh°»õÚ ÷ÁÖ£õkPøÍU SÔ¨¤kP. 

15. (a) What are the responsibilities of a market research 
report writer? 

  \¢øu Bμõ´a] AÔUøP GÊx£Á›ß ö£õÖ¨¦PÒ 
¯õøÁ? 

Or 

 (b) What are the recent trends in marketing research? 

  \¢øu¨£kzuÀ Bμõ´a]°ß \«£zv¯ ÷£õUSPÒ 
¯õøÁ? 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the nature and scope of marketing research. 

 \¢øu¨£kzuÀ Bμõ´a]°ß ußø© ©ØÖ® GÀøPPøÍ 
ÂÁõvUP. 

17. Enumerate the various process involved in questionnaire 
design. 

 ÷PÒÂzuõÒ ÁiÁø©¨¤À  Ah[Q²ÒÍ £À÷ÁÖ 
ö\¯À•øÓPøÍ GkzxøμUP. 

18. Explain the test of significance of difference between two 
sample proportions. 

 Cμsk ©õv› ÂQu[PÐUS Cøh°»õÚ 
÷ÁÖ£õmiÝøh¯ •UQ¯zxÁzvß ÷\õuøÚø¯ 
ÂÍUSP. 
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19. Explain the four measures of central tendency. 

 ø©¯¨÷£õUQß |õßS AÍÃkPøÍ ÂÍUSP. 

20. Discuss the different components of the research report. 

 Bμõ´a] AÔUøP°ß öÁÆ÷ÁÖ TÖPøÍ ÂÁõvUP. 

_____________ 
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DISTANCE EDUCATION 

B.Com/B.Com. (L.E.) DEGREE EXAMINATION, MAY 2024. 

Sixth Semester 

CORPORATE ACCOUNTING 

(CBCS 2018–19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is share? 

 £[S GßÓõÀ GßÚ? 

2. State the various methods for redemption of debentures. 

 PhÜmk¨ £zvμ[PøÍ «mh¼ß £À÷ÁÖ •øÓPøÍ 
SÔ¨¤kP. 

3. Mention the various methods of valuation of goodwill. 

 |Øö£¯øμ ©v¨¤k® £À÷ÁÖ •øÓPøÍ TÖP. 

4. Under which circumstances, valuation of shares will be 
resorted to? 

 G¢öu¢u `Ì{ø»PÎÀ £[SPÒ ©v¨¤h¨£kQßÓÚ? 

5. List out the various methods for computing the amount of 
purchase consideration. 

 öPõÒ•uÀ ©Ö£¯ß öuõøPø¯ PnUQk® £À÷ÁÖ 
•øÓPøÍ £mi¯¼kP. 

Sub. Code 
10262/12562
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6. What is External Reconstruction? 

 ¦Óa^μø©¨¦ GßÓõÀ GßÚ? 

7. What is meant by minority of interest? 

 ]Ö£õßø© |»ß £ØÔ AÔÁx GßÚ? 

8. What is meant by liquidation of companies? 

 {Ö©zøu Pø»zuÀ Gß£uß ö£õ¸Ò ¯õx? 

9. What is Rebate on bill discounted? 

 uÒÐ£i ö\´¯¨£mh Esi¯À «uõÚ JxUS GßÓõÀ 
GßÚ? 

10. What is social responsibility accounting? 

 \‰P ö£õÖ¨¦ PnUQ¯À GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) A company forfeits 100 shares of Rs. 10 each 
originally issued at a premium of Rs. 2 per share. 
The shareholder paid Rs. 4 per share on application 
but did not pay the allotment money of Rs. 4 per 
share (including premium) and call of Rs. 4 per 
share. These shares are subsequently reissued at 
Rs. 11 per share as fully paid up. Pass journal 
entries. 

   ¹. 2 •øÚ©zvÀ öÁÎ°mh 100 £[SPÒ ¹. 10 
Ãu® EÒÍøÁ JÖ¨¤Ç¨¦ ö\´¯¨£mhx. J¸ 
£[Suõμº Âsn¨£zvß «x ¹. 4 ö\¾zvÚõº 
BÚõÀ JxURk ¹. 4 (•øÚ©® ÷\º¢ux) ©ØÖ® 
AøÇ¨¦ ¹. 4 ö\¾zuÂÀø». A¨£[SPøÍ ¹. 11 
GÚ ©ÖöÁÎ±k ö\´ux. SÔ¨÷£mk £vÄPøÍ 
u¸P.  

Or 
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 (b) Y Ltd issue 10,000 equity shares of Rs. 10 each. The 
issue was underwritten as follows : 

  A — 30%, B — 30%, C — 20% 

  However, the company received application for 8000 
shares only. Determine the liability of the respective 
underwriters. 

   Y ¼ªöhm ¹. 10 Ãu® 10,000 ö£õx £[SPøÍ 
öÁÎ°mhx. AuøÚ ¤ßÁ¸©õÖ J¨¦Öv ö\´ux. 

  A — 30%, B — 30%, C — 20% 

  A¢{Ö©® 8,000 Âsn¨£[PøÍ ©mk® ö£ØÓx. 
J¨¦Öv¯õÍºPÎß ö£õÖ¨¦PøÍ wº©õÛUP. 

12. (a) The following particulars are available in respect of 
the business carried on by John. 

  (i) Capital invested — Rs. 50,000 

  (ii) Trading results : 1990 Profit — Rs. 12,200; 
1991 Profit — Rs. 15,000; 1992 Loss — Rs. 
2,000; 1993 Profit — Rs. 21,000 

  (iii)  Market rate of interest on investment 8%. 

  (iv)  Rate of risk return on capital invested in 
business 2% 

  (v)  Remuneration from alternative employment of 
the proprietor (if not engaged in business) —
Rs. 3,600 p.a. Compute the value of goodwill of 
the business on the basis of 3 years purchase 
of super profit taking average of the last four 
years. 

   áõß Gß£Á›ß Áõo£ Â£μ[PÒ ¤ßÁ¸©õÖ : 

  (i) •u½k ö\´ux — ¹. 50,000 
  (ii) Â¯õ£õμ •iÄ :  
   1990 C»õ£® — ¹. 12,200; 1991 C»õ£® —  

¹. 15,000;  
   1992 |èh® — ¹. 2,000; 1993 C»õ£® —  

¹. 21,000 
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  (iii)  •u½miß «uõÚ \¢øu Ámi Ãu® 8%. 

  (iv)  Â¯õ£õμzvÀ •u½k ö\´u öuõøP «uõÚ 

Chº Ãu® 2% 

  (v)  E›ø©¯õÍ›ß ©õØÖ ÷Áø»UPõÚ Fv¯® 

(Â¯õ£õμzvÀ Dk£hõux) —  ¹. 3,600 Bsk 
JßÖUS. 

   Ph¢u |õßS Á¸h \μõ\› C»õ£zvÀ 3 Á¸h 
ªøP C»õ£ öPõÒ•uÀ Ai¨£øh°À 
|Øö£¯øμ PnUQkP. 

Or 

 (b) From the following particulars, find out the value of 
good will as per annuity method.  

  (i)  Capital employed Rs. 3,00,000 

  (ii)  Normal rate of return — 10% 

  (iii)  Present value of Rs. 1 for 5 years at 10% at 
3.78 

  (iv)  Normal profit for 5 years are as follows : 

   First year — Rs. 30,000, Second year —  
Rs. 32,000, Third year — Rs. 34,000,  Fourth  
year — Rs. 36,000, Fifth year — Rs. 38,000 

  (v)  Non-recurring Income : Rs. 1,600 

  (vi)  Non-recurring expenses : Rs. 1,000 

   ¤ßÁ¸® Â£μ[PÎ¼¸¢x BskzöuõøP •øÓ 
‰»® |Øö£¯øμ PnUQkP. 

  (i)  •uÀ Cmhx ¹. 3,00,000 

  (ii)  C¯À£õÚ C»õ£ Ãu® — 10% 

  (iii)  uØ÷£õøu¯ ©v¨¦ ¹. 1 I¢x Á¸h[PÐUS 
10% — 3.78 
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  (iv)  I¢x Á¸hzvØPõÚ C¯À¦ C»õ£® : 

   •u»õ® Bsk — ¹. 30,000, Cμshõ® Bsk 
— ¹. 32,000, ‰ßÓõ® Bsk — ¹. 34,000,  
|õßPõ® Bsk — ¹. 36,000, I¢uõ® Bsk 
— ¹. 38,000 

  (v)  v¸®£ {PÇõ Á¸©õÚ® : ¹. 1,600 

  (vi)  v¸®£ {PÇõ ö\»ÄPÒ : ¹. 1,000 

13. (a) The company B takes over the business of company 
A. The value agreed for various assets is goodwill 
Rs. 22,000, Land and buildings Rs. 25,000. Plant 
and machinery Rs. 24,000, Stock Rs. 13,000, 
Debtors Rs. 8,000. B company does not take over 
cash but agrees to assume the liability of sundry 
creditors at Rs. 5,000. Calculate Purchase 
Consideration. 

   A {Ö©zvß Â¯õ£õμzøu B {Ö©® GkzxU 
öPõshx. GkzxU öPõÒÍ J¨¦U öPõsh ö\õzvß 
©v¨¦ ¤ßÁ¸©õÖ  : |Øö£¯º ¹. 22,000, {»® 
©ØÖ® Pmih® ¹. 25,000, uÍÁõh® ©ØÖ® 
C¯¢vμ® ¹. 24,000, \μUQ¸¨¦ ¹. 13,000, 

PhÚõÎPÒ ¹. 8,000. B {Ö©® öμõUPzøu Gkzx 
öPõÒÍÂÀø». BÚõÀ ¹. 5,000 ©v¨¦ÒÍ 
PhÜ¢÷uõº ö£õÖ¨ø£ HØÓx. öPõÒ•uÀ ©Ö£¯øÚ 
PnUQhÄ®. 

Or 

 (b) Gas company rebuilt their works with double 
capacity at a cost of Rs. 12,00,000. The cost of old 
works was Rs. 5,25,000. In construction old 
materials of Rs. 22,500 was used and material 
worth Rs. 37,500 was sold. The cost of labour and 
materials are 50% higher than when the old works 
were built. Give necessary Journal entries. 
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   J¸ G›Áõ² {ÖÁÚ® uÚx EØ£zv vÓøÚ 
C¸©h[S AvP›US® ÷|õUPzxhß uÚx 
öuõÈ»Pzøu ¹. 12,00,000US ¦x¨¤UP {øÚzux. 
Auß £øÇ¯ ©v¨¦ ¹. 5,25,000 BS®. 
{Ö©õÚzvÀ £øÇ¯ ö£õ¸mPÒ ¹. 22,500US 
£¯ß£kzu¨£mhx ©ØÖ® ¹. 37,500 ©v¨¦ÒÍ 
ö£õ¸ÒPÒ ÂØP¨£mhx. £øÇ¯ £oø¯ {ÖÄ® 
÷£õx T¼ ©ØÖ® ‰»¨ö£õ¸mPÎß Âø» 50% 
E¯º¢xÒÍx. ÷uøÁ¯õÚ £vÂøÚ u¸P.  

14. (a) What is liquidation? State the various modes of 
liquidation of a company. 

   Pø»¨¦ GßÓõÀ GßÚ? {ÖÁÚU Pø»¨¤ß 
£À÷ÁÖ •øÓPøÍ SÔ¨¤kP. 

Or 

 (b) Prabhu Ltd went into liquidation with the following 
liabilities : 

       Rs. 

  Preferential Creditors  10,000 

  Unsecured Creditors  32,000 

  Debentures   10,000 

  Assets realized as follows : 

  Land and Buildings  20,000 

  Machinery    18,650 

  Fixtures and Fittings  1,000 

  Liquidator’s remuneration 2% on assets realized 
and 2% on amount distributed to unsecured 
creditors other than preferential creditors. 
Liquidation expenses amounted to Rs. 1000. 
Prepare liquidator’s final statement of account.   
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   ¤μ¦ ¼ªöhm RÌPsh ö£õÖ¨¦P÷Íõk 
Pø»UP¨£kQÓx. 

       ¹. 

  •ßÝ›ø©U PhÜ¢÷uõº 10,000 

  ¤øn°À»õu PhÜ¢÷uõº 32,000 

  Phß £zvμ®   10,000 

  ö\õzxUPøÍ ÂØÖ ö£ØÓ öuõøP : 

  {»•®, Pmih•®   20,000 

  C¯¢vμ®    18,650 

  ©øÚzxøn¨ ö£õ¸Ò  1,000 

  ö\õzxUPÒ ÂØÖ Á`À ö\´u öuõøP°À 2% 
¤øn°À»õu PhÜ¢÷uõºPÐUSU öPõkzu 
öuõøP°À •ßÝ›ø©U Phß }[P»õP 2% 
Pø»¨£õÍ¸US Fv¯©õPU öPõkUP¨£kQÓx. 
Pø»¨¦a ö\»Ä ¹. 1,000. Pø»¨£õÍº CÖv{ø»U 
PnUøP u¯õº ö\´P.  

15. (a) What are the objectives of human resource 
accounting? 

   ©Ûu ÁÍ PnUQ¯¼ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Distinguish between life insurance and general 
insurance. 

   B²Ò Põ¨¥k ©ØÖ® ö£õxUPõ¨¥møh 
÷ÁÖ£kzxP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. A company issued 6% debentures of Rs. 6,00,000 with a 
condition that they should be redeemed after 3 years at 
10% premium. The amount set aside for the redemption 
of debentures is invested in 5% Government securities. 
The sinking fund table shows that 0.31720856 at 5% 
compound interest in three years will become Rs. 1. Give 
journal entries for 3 years. 
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 J¸ {Ö©® ¹. 6,00,000 ©v¨¦ÒÍ 6% Phß£zvμ[PøÍ 3 

Á¸h® PÈzx 10% •øÚ©zvÀ «m£uØS öÁÎ°mhx. 

«m¦UPõÚ öuõøPø¯ 5% Aμ_ ¤øn¯[P¼À •u½k 

ö\´¯¨£mhÚ. ‰ÌS® {v AmhÁøn¨£i 5% Tmk 

Ámi 3 Á¸hzvÀ ¹. 1 ß £i Auß ©v¨¦  

¹. 0.31720856. ‰ßÖ Á¸h[PÐUS›¯ SÔ¨÷£mk¨ 

£vÄPøÍ u¸P. 

17. From the following details, calculate the value of 

goodwill. 

 (a)  Average capital employed in the business  

Rs. 6,00,000 

 (b)  Net trading profit for the three years: Rs. 1,07,600, 

Rs. 90,700, Rs. 1,12,500 

 (c)  Rate of interest expected from capital at 12% 

 (d)  Remuneration to the partners for their services  

Rs. 12,000 per annum. 

 (e)  Sundry assets of the firm Rs. 7,65,429 and Sundry 

liabilities — Rs. 34,123. 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x |Øö£¯›ß ©v¨ø£ PnUQkP. 

 (A) Â¯õ£õμzvÀ £¯ß£kzv¯ \μõ\› •uÀ ¹. 6,00,000 

 (B) Ph¢u ‰ßÖ BskPÎß {Pμ C»õ£® :  

¹. 1,07,600, ¹. 90,700, ¹. 1,12,500 

 (C) •u¼¼¸¢x Gvº£õºUP¨£k® Ámi Ãu® — 12% 

 (D) TmhõÎPÎß ÷\øÁUPõÚ Fv¯® ¹. 12,000 

Bsk JßÖUS 

 (E) {ÖÁÚzvß £Ø£» ö\õzxUPÒ ¹. 7,65,429 ©ØÖ® 

£Ø£» ö£õÖ¨¦PÒ ¹. 34,123. 
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18. Prepare the consolidated balance sheet of A Ltd and its 
subsidiary B Ltd on 31st Dec. 2020. 

Liabilities A Ltd 
Rs. 

 B Ltd. 
Rs. 

Assets A Ltd 
Rs. 

B Ltd 
Rs. 

Share 
Capital : 
Rs. 100 
Shares 

5,00,000  2,00,000 Fixed 
Assets 

8,50,000 4,00,000

Reserve 
Fund 

1,00,000  50,000 Investments 
in B Ltd 

1,50,000 —

Profit and 
Loss a/c 

1,00,000  50,000  

Debentures 1,00,000  —  

Creditors 2,00,000  1,00,000  

 10,00,000  4,00,000  10,00,000 4,00,000

 On the date of acquisition of shares by A Ltd on 
01.01.2020 there were no profits or reserves in B Ltd. 

 öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x 31 i\®£º 2020À A 
{Ö©® ©ØÖ® AuÝøh¯ xøn {Ö©©õÚ B {Ö©zvß 
J¸[Qøn¢u C¸¨¦{ø»U SÔ¨ø£ u¯õ›UP. 

ö£õÖ¨¦PÒ A {Ö©® 
¹. 

 B 
{Ö©® 

¹.. 

ö\õzxUPÒ A {Ö©®
¹. 

B 
{Ö©®

¹. 

£[S ‰»uÚ® : 
¹. 100 £[SPÒ 

5,00,000  2,00,000 {ø»¯õÚ 
ö\õzxUPÒ

8,50,000 4,00,000

Põ¨¦{v 1,00,000  50,000 B 
{Ö©zvÀ 
•u½k 

1,50,000 —

C»õ£ |mh 
P/S 

1,00,000  50,000  

Phß£zvμ[PÒ 1,00,000  —  
PhÜ¢÷uõºPÒ 2,00,000  1,00,000  
 10,00,000  4,00,000  10,00,000 4,00,000

 A {Ö©® 01.01.2020À B {ÖÁÚzvÀ £[SPÒ Áõ[S® 
÷£õx B {ÖÁÚzvÀ GÆÂu Põ¨¦® C»õ£® CÀø».   
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19. From the data relating to a company (involuntary 
liquidation) you are asked to prepare liquidators 
statement of accounts. 

 (a) Cash with liquidator (after all assets are realized 
and secured creditors and debenture holders are 
paid) is Rs. 6,73,800 

 (b)  Preferential creditors to be paid Rs. 30,000 

 (c)  Other unsecured creditors Rs. 2,15,000 

 (d)  4,000 6% preference shares of Rs. 100 each fully 
paid 

 (e)  2,000 equity shares of Rs. 100 each Rs. 75 per share 
paid up 

 (f)  6,000 equity shares of Rs. 100 each Rs. 60 per share 
paid up 

 (g)  Liquidators remuneration 2% on preferential and 
other unsecured creditors. 

 (h)  Preference dividends were in arrears for 2 years. 

 RÌPõq® ÂÁμ[PÒ J¸ {Ö©zvØPõÚøÁ 
(ußÛaø\¯õÚ Pø»¨¤À EÒÍx). Auß Pø»¨£õÍº 
CÖv PnUøP }Âº u¯õ›UPÄ®. 

 (A) Pø»¨£õÍº øP°À öμõUP® (AøÚzx 
ö\õzxUPÐ® ÂØP¨£mk ¤ønU PhÜ¢÷uõº ©ØÖ® 
PhÜmk¨ £zvμuõμ¸US ö\¾zv¯ ¤ß)  
¹. 6,73,800. 

 (B) ö\¾zu¨£h÷Ási¯ •ßÝ›ø© PhÜ¢÷uõº ¹. 
30,000. 

 (C) ¤Ó ¤øn¯©ØÓ PhÜ¢÷uõº ¹. 2,15,000. 

 (D) 4,000 6% •ßÝ›ø© £[SPÒ JßÖ ¹. 100 Ãu® 
•Êø©²® ö\¾zu¨£mhx. 

 (E) 2000 \©£[SPÒ JßÖ ¹. 100 Ãu® ¹. 75 ©mk® 
ö\¾zu¨£mhx. 
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 (F) 6000 \©£[SPÒ JßÖ ¹. 100 Ãu® ¹. 60 ©mk® 
ö\¾zu¨£mhx. 

 (G) Pø»¨£õÍº Fv¯® •ßÝ›ø© ©ØÖ® ¤Ó 
¤øn¯©ØÓ PhÜ¢÷uõ›À — 2%. 

 (H) •ßÝ›ø© £[Põuõ¯® 2 BskPÍõP 
ÁÇ[P¨£hÂÀø».  

20. Explain the schedules prepared while finalizing accounts 
of a general insurance company. 

 ö£õxUPõ¨¥mk {ÖÁÚzvß PnUSPøÍ •iUS® 
ö£õÊx u¯õ›UP¨£k® £À÷ÁÖ AmhÁønPøÍ 
ÂÁ›UP. 

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com. (L.E)/B.Com. (CA)/  
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Sixth Semester 

ENTREPRENEURSHIP DEVELOPMENT  

(CBCS – 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Mention any two methods of generating ideas in 
entrepreneurship. 

 öuõÈÀ•øÚÂÀ ÷¯õ\øÚPøÍ E¸ÁõUS® H÷uÝ® 
Cμsk •øÓPøÍU SÔ¨¤kP. 

2. Expand :  

 (a)  NSIC  
 (b) KVIC 

 Â›ÁõUSP : 

 (A) NSIC 

 (B) KVIC 

3. What is meant by financial feasibility? 

 {v \õzv¯UTÖ £ØÔ AÔÁx GßÚ? 

Sub. Code 
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4. Define the term Company. 

 {Ö©® GßÓ ö\õÀø» Áøμ¯ÖUP. 

5. List out the different types of risk. 

 ChºPÎß £À÷ÁÖ ÁøPPøÍ £mi¯¼kP. 

6. What is business plan? 

 öuõÈÀ vmh® GßÓõÀ GßÚ? 

7. What is meant by creativity? 

 £øh¨£õØÓÀ £ØÔ AÔÁx GßÚ? 

8. What are the sources of innovation? 

 ¦xø©UPõÚ Buõμ[PÒ ¯õøÁ? 

9. Give the meaning of transformation. 

 E¸©õØÓzvß ö£õ¸øÍU öPõk. 

10. What you mean by Self Help Groups? 

 _¯ EuÂUSÊUPÒ £ØÔ }Âº AÔÁx GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the different types of entrepreneurship in 
brief. 

  öuõÈÀ•øÚÂß £À÷ÁÖ ÁøPPøÍ _¸UP©õP 
ÂÍUSP. 

Or 

 (b) Briefly explain the role of DIC’s in entrepreneurial 
development. 

  öuõÈÀ•øÚ÷Áõº ÁÍºa]°À DIC&PÎß £[QøÚ 
_¸UP©õP ÂÍUSP. 
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12. (a) What are the components of feasibility analysis? 

  \õzv¯UTÖ £S¨£õ´Âß EÒÍhUP[PÒ ¯õøÁ? 

Or 

 (b) Discuss the various types of plant layout. 

  öuõÈØ\õø» Aø©¨¤ß £À÷ÁÖ ÁøPPøÍ 

ÂÁõvUP. 

13. (a) Explain the various classifications of project. 

  vmhzvß £À÷ÁÖ ÁøP¨£õkPøÍ ÂÍUSP. 

Or 

 (b) Describe briefly the process of risk management. 

  Chº ÷©»õsø©°ß ö\¯À•øÓø¯ _¸UP©õP 

ÂÁ›UP. 

14. (a)  Bring out the features of small scale industries. 

  ]Ö öuõÈÀPÎß C¯ÀPøÍ öÁÎUöPõnºP. 

Or 

 (b) State the characteristics of innovation. 

  ¦xø©°ß ]Ó¨¤¯À¦PøÍ u¸P. 

15. (a)  What are the problems in family business? Explain. 

  Sk®£ öuõÈ¼À EÒÍ ¤μa\øÚPøÍ ¯õøÁ? 

ÂÍUSP. 

Or 

 (b)  Briefly explain the types of franchising. 

  E›ø©°¯¼ß ÁøPPøÍ _¸UP©õP ÂÍUSP. 
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the various factors influencing 
entrepreneurship. 

 öuõÈÀ•øÚøÁ £õvUS® £À÷ÁÖ PõμoPøÍ ÂÁ›UP. 

17. Explain in detail the characteristics of a company. 

 J¸ {Ö©zvß ]Ó¨¤¯À¦PøÍ Â›ÁõP ÂÍUSP. 

18. Enumerate the stages involved in a good business plan. 

 J¸ |À» ÁoPz vmhzvÀ EÒÍ {ø»PøÍU PnUQkP. 

19. Discuss the role of entrepreneur in economic 
development. 

 ö£õ¸Íõuõμ ÁÍºa]°À öuõÈÀ•øÚ÷Áõ›ß £[QøÚ 
ÂÁõvUP. 

20. What are the causes and consequences of industrial 
sickness? Explain. 

 öuõÈÀxøÓ |¼ÁøhÁuØPõÚ Põμn[PÒ ©ØÖ® 
ÂøÍÄPÒ ¯õøÁ? ÂÍUSP.  

 

———————— 
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B.Com./B.Com. (Lateral Entry) DEGREE EXAMINATION, 
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MANAGEMENT INFORMATION SYSTEM 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. State any two objectives of MIS. 

 MIS ß H÷uÝ® Cμsk ÷|õUP[PøÍU SÔ¨¤hÄ®. 

2. List out the different kinds of information system. 

 uPÁÀ Aø©¨¦PÎß öÁÆ÷ÁÖ ÁøPPøÍ £mi¯¼kP. 

3. Mention any two pre-determined objectives of system 
analysis. 

 Aø©¨¦PÒ £S¨£õ´Âß •ß wº©õÛUP¨£mh 
÷|õUP[PøÍ SÔ¨¤kP. 

4. Expand BPR. 

 BPR Â›Ä£kzxP. 

5. What is ERP? 

 ERP GßÓõÀ GßÚ? 

6. What is E – Auction? 

 ªß H»® GßÓõÀ GßÚ? 

Sub. Code 
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7. Define AI. 

 AI I Áøμ¯ÖUP. 

8. Expand:  

 (a)  MICR  

 (b)  DBMS 

 (A) MICR 

 (B) DBMS. ÂÁ›ÁõUP® u¸P. 

9. Define network topology. 

 Áø»¨¤ßÚÀ Pmhø©¨¤¯ø» Áøμ¯ÖUP. 

10. What is cyber stalking? 

 ø\£º ìhõUQ[ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the characteristics of MIS? 

  MIS ß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

Or 

 (b) State the benefits and limitations of MIS. 

  MIS ß |ßø©PÒ ©ØÖ® wø©PøÍ u¸P. 

12. (a) What are the fundamental principles of design? 

  ÁiÁø©¨¤ß Ai¨£øhU ÷Põm£õkPÒ ¯õøÁ? 

Or 

 (b) What are the differences between planning and 
control? 

  vmhªkuÀ ©ØÖ® Pmk¨£õk BQ¯ÁØÖUS 
Cøh÷¯ EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 
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13. (a) Write a short note on Laser Printer. 

  ÷»\º Aa_ C¯¢vμ® £ØÔ ]Ö SÔ¨¦ GÊxP. 

Or 

 (b) What are the features of E-Commerce? 

  ªß ÁoPzvß A®\[PÒ ¯õøÁ? 

14. (a) Explain the telecommunications system 
components. 

  öuõø»zöuõhº¦ Aø©¨¤ß TÖPøÍ ÂÍUSP. 

Or 

 (b) What are the characteristics of DSS? 

  DSS Cß £s¦PÒ ¯õøÁ? 

15. (a) What are the components of DBMS? 

  DBMS Cß TÖPÒ ¯õøÁ? 

Or 

 (b) Write a short note on Value Chain Model. 

  ©v¨¦ \[Q¼ ©õv›ø¯ £ØÔ ]Ö SÔ¨¦ GÊxP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Elucidate different functions of information system. 

 uPÁÀ Aø©¨¤ß £À÷ÁÖ ö\¯À£õkPøÍ ÂÍUPÄ®. 

17. Describe the tools that can be used for structured 
analysis. 

 Pmhø©UP¨£mh £S¨£õ´ÂØS¨ £¯ß£kzuUTi¯ 
P¸ÂPøÍ ÂÁ›UPÄ®. 



D–4249

 

  4

18. Explain “Artificial intelligence” in detail. 

 “ö\¯ØøP ~snÔÄ” Gß£øu Â›ÁõP ÂÍUSP. 

19. Describe the benefits of ERP in detail. 

 ERP Cß |ßø©PÒ £ØÔ Â›ÁõP ÂÁ›UPÄ®. 

20. Describe the ethical issues in case of IS professionals. 

 IS {¦nºPÎß ö|Ô•øÓ ]UPÀPøÍ ÂÁ›UPÄ®. 

____________ 


